
PRODUCT RANGE

model

BAP3.5

BHP3

BDP2.5

BHP2.6

BHP2.5

BAP2.5

BHP2

BAP2

BAP1.5

BAP1

BKP1

BKP0.5

BAP3.5(250'200bar)

BHP3(250-180aar)

BDP2.5(220-200bar)

BHP2.6(250-170bar)

BHP2.5(250~190bar)

BAP2.5(220-160bar)

BHP2(270-160bar)

BAP2(250~ 140bar)

BAP1.5{210~180bar)

BAP1(250-150bar)

BKP1(230-160bar)

BKP0.5(200~ 160bar)

0 0.19 0.8 1.4 2 3 6 8 10 12 13.8 20 23 30 40 44 45 71 100

(cmlrev)
displacement

Remark: Show these pressures as maximum continuous pressure 
in the graph, product series "BH" denote front and end 
cover material cast iron, etcaeteras series denote front 
and end cover material aluminum.



TECHNICAL INFORMATION

Please strictly follow assembly and use indications given in this 
catalogue for top performance and longer life of Boden pump.

INSTALLATION NOTES___________________
Before starting the system on a continuous basis, we suggest 
to adopt as follows simple precautions.

• Check for the direction of rotation of the pump to be consistent 
with the drive shaft one, be sure no reversion revolved.

• Check for the proper aligm ent of pump shaft and motor shaft, 
it is necessary that the connection does not induce axia l or 
radial loads.

• Check if contact area between seal ring and shaft is clean, 
remove a ll d ir t, ch ips  and a ll fo re ign  bodies form  flanges 
connecting inlet and delivery ports, dust could provoke quicker 
wear and leakage.

• Ensure that in take and return pipes ends are always below 
fluid level and as far from each other as possible.

• Fill the pump with fluid, and turn it by hand.
• Disconnect pump drain during startup to bleed air o ff the circuit.
• Always avoid or lim it load starting for pump longer life.

HYDRAULIC FLUIDS____________________
Use specific  m ineral o il based hydrau lic  flu ids having good 
antioxidant, anti-foam ing(rapid de-aeration), anti-wear, anti- 
-co rros ion  and lu b ric a tin g  p ro p e rtie s , F lu ids shou ld  also 
com plyw ith DIN 51525 and VDMA 24317 standards and get 
through11th stage of FZ6 test.
For the standard models, the temperature of the flu id should 
range between -1 0 ‘C and +80‘C.
Fluid kinematic viscosity ranges are the following:

allowed range 6...500 cSt

recommended range 10...100 cSt

value allowed at startup ...2000 cSt

INLET PRESSURE______________________
Under standard working conditions, intake pipe pressure is 
lower than atmospheric pressure. The operating inlet pressure 
should range between 0.7 and 3 bars (absolute).

2



FILTER RECOMMENDATION
It is w ide ly  known th a t most pumps ea rly  fa ilu re s  are due to 
contam inated flu ids . As a w arran ty  cannot be issued fo r d ir t-  
related wear, we recommend a filte r to be used, which can reduce 
the degree of contamination to a permissible dimension in terms 
of the size and concentration of dirt particles.
The filte rin g  system shall always ensure contam ination levels 
not exceeding the values indicated below:

Pressure <140 bar 140...210 bar >210 bar

NAS 1638 Class 10 9 8

ISO 4406 Class 19/16 18/15 17/14

Ratio Px =75 25-40 mil 12-15 mu 6-12 mu

PRESSURE DEFINITION

INLET AND DELIVERY LINES_______________
Hydraulic system pipes should show no sudden changes of direction, 
sharp bends and sudden differences in cross-section.
They should not be too long or out of proportion.
Pipe cross-section should be sized so that fluid velocity does not 
exceed recommended values.
It is advisable to carefully consider the possible diameter reduction 
of the inlet or outlet pipes fitted on flange fittings.
Reference values are the following:

Intake line 0.5...1.6 m/s

Delivery line 2...6 m/s

Return line 1.6...3 m/s

3



ROTATION DIRECTION
Definition of rotation direction: when standing before the pump 
w ith  d r iv in g  s h a ft up w ith  its  p ro je c tin g  end to w a rd s  the 
observer, the pump is rotating clockw ise in case of right-hand 
rotation "D" .The contrary w ill happen with left-hand pumps "S ', 
keeping the same point of view.

R

S= anti-clock rotation D= clockwise rotation r= reversible rotation

DESIGN CALCULATIONS FOR PUMP

Flow Q L/min

Torque M Nm

Power P kW

Speed n r/min

Pressure ДР bar

Displacement V cm3/rev

Volumetric efficiency H v=  П v(V, ЛР, n) *0.93

Mechanical efficiency П hm = П hm(V, ДР, n) *0.85

Total efficiency H t=  H v  • Hhm *0.80

Q  =V • П • 4 v 1 0 ' 3 [L/min ]

M =( Д Р  • V)/(62.83 • qhm) [ Nm ]

P =( A P  • Q)/(612 • ПО [  kW ]

4



ВКР0.5

HOW TO ORDER

BK p 0.5 Front cover Rotation Size Shaft Ports Ports position Seals Options

Series
P- Pump

Group AO D Clockwise

S Counter
clockwise

R Reversible

0.19
026
0.38
0.50
0.65
0.75
0.88
100
1.25
1.50
1.75
2.00

Options

V-Directional valves

Drain

QO-
01-
02-

internal drain 
external drain «5 
external drain G1/8

Ports position____________
Omit-Side inlet and side outlet 

А-Front inlet and front outlet 
B-Back inlet and front outlet 
С-Back inlet and side outlet 
D-Side inlet and front outlet 
R-Back inlet and back outlet

Seals______________________________________________________
Omit-Range between -10C and +80C,inlet pressure up to max. 3 bar absolute. 
V-Version suitable for fluid at hi-temperatures, range between -10'C and +120'C. 
H-Version suitable for fluid at low-temperatures, range between -40 С and +80'C. 
Т-Version suitable for inlet pressure up to max. 3 and 6 bar absolute.
N-Version suitable for inlet pressure up to max. 3 and 10 bar absolute.

Examples:________________________________________________________________________________________________________________

BKP0.5-B0-D-O.19-G0-L0-B= clockwise rotation, 0.19 cc/rev, B0 front cover, GO tang shaft, setting ports L0 type, back inlet and front outlet (B), standard seals

BKP0.5-B1-D-0.19-GO-L2= clockwise rotation, 0.19 cc/rev, B1 front cover, GO tang shaft, setting ports L2 type, standard seals

BKP0.5-AO-D-0.19-C0-L2-N= clockwise rotation, 0.19 cc/rev, A0 front cover, CO parallel shaft, setting ports L2 type, high pressure seals(N)

5



ВКР0.5В0

А-А
с-0.015-ао5

Туре Displacement Max pressure 

Р1 | P2 I P3

Max. speed Min. speed Dimensions 

M | N
(cnAev) bar bar bar (r/min) mm mm

BKP0.5B0-D-0.19 0.19 200 230 250 7000 1000 60 51

BKP0.5BO-D-0.26 0.26 200 230 250 7000 1000 60.5 51.5

8KP0.5B0-D-0.38 0.38 200 230 250 7000 1000 61.5 52.5

8KP0.5BO-D-0.50 0.50 200 230 250 7000 1000 62.5 53.5

ВКР0.5ВО-0-0.65 0.65 200 230 250 7000 1000 63.5 54.5

BKP0.5B0-D-0.75 0.75 200 230 250 7000 1000 64.5 55.5

BKP0.5B0-D-0.88 0.88 200 230 250 7000 1000 65.5 56.5

BKP0.5BO-D-1.00 1.00 200 230 250 6000 850 66.5 57.5

BKP0.5B0-D-1.25 1.25 200 230 250 5000 700 68.5 59.5

ВКР0.5В0-О-1.5О 1.50 200 230 250 4000 600 70.5 61.5

BKP0.5B0-D-1.75 1.75 180 210 230 4000 600 72.5 63.5

BKP0.5BO-D-2.00 2.00 160 190 210 3000 500 74.5 65.5

6



ВКР0.5В1

G1/4 thread depth 9.
To mount the pump, n.2 M5 screws, 
with a torque wrench setting fixed 
at 5.4 ±0.5 Nm.

OUTLET INLET

c-0.015-0.C6

Type Displacement Max pressure 

P1 I P2 | P3

Max. speed Min. speed

M
Dimensions

N . L
(cnArev) bar bar bar (r/min) (r/min) mm mm mm

BKP0.5B1-D-0.19 0.19 200 230 250 7000 1000 60 51 27.2

BKP0.5B1-D-0.26 0.26 200 230 250 7000 1000 60.5 51.5 27.5

BKP0.5B1-D-0.38 0.38 200 230 250 7000 1000 61.5 52.5 28

BKP0.5B1-D-0.50 0.50 200 230 250 7000 1000 62.5 53.5 28.5

BKP0.5B1-D-0.65 0.65 200 230 250 7000 1000 63.5 54.5 29

BKP0.5B1-a0.75 0.75 200 230 250 7000 1000 64.5 55.5 29.5

BKP0.5B1-D-0.88 0.88 200 230 250 7000 1000 65.5 56.5 30

BKP0.5B1-0-1.00 1.00 200 230 250 6000 850 66.5 57.5 30.5

BKP0.5B1-D-1.25 1.25 200 230 250 5000 700 68.5 59.5 31.5

BKP0.5B1-D-1.50 1.50 200 230 250 4000 600 70.5 61.5 32.5

BKP0.5B1-D-1.75 1.75 180 210 230 4000 600 72.5 63.5 33.5

BKP0.5B1-D-2.00 2.00 160 190 210 3000 500 74.5 65.5 34.5

7



ВКР0.5А0

• V

э  /

End cover: G1/4 thread depth 12. 
To mount the pump, n.4 M5 screws, 
with a torque wrench setting fixed 
at 5.4+0.5 Nm.

Shaft M6 nut, with a torque wrench 
setting fixed at 7 Nm.

INLET OUTLET

Type Displacement Max pressure 

P1 | P2 P3

Max.speed Min. speed Dimensions
M

(cnrVrev) bar bar bar (r/min) mm

BKPO.5AO-D-O.19 0.19 200 230 250 7000 1000 60

BKP0.5A0-D-0.26 0.26 200 230 250 7000 1000 60.5

BKP0.5AO-D-0.38 0.38 200 230 250 7000 1000 61.5

BKP0.5A0-D-0.50 0.50 200 230 250 7000 1000 62.5

BKP0.5AO-D-0.65 0.65 200 230 250 7000 1000 63.5

BKP0.5AO-D-OJ5 0.75 200 230 250 7000 1000 64.5

BKP0.5AO-D-0.88 0.88 200 230 250 7000 1000 65.5

BKP0.5A0-D-1.00 1.00 200 230 250 6000 850 66.5

BKPO.5AO-D-1.25 1.25 200 230 250 5000 700 68.5

BKP0.5A0-D-1.50 1.50 200 230 250 4000 600 70.5

BKPO.5AO-D-1.75 1.75 180 210 230 4000 600 72.5

BKP0.5A0-D-2.00 2.00 160 190 210 3000 500 74.5

8



ВКР0.5А1

|  •

i
0

G1/4 thread depth 9.
To mount the pump, n.4 M5 screws, 
with a torque wrench setting fixed 
at 5.4 ±0.5 Nm.
Shaft M6 nut, with a torque wrench 
setting fixed at 7 Nm.

OUTLET INLET

Type Displacement Max pressure Max. speed Min. speed Dimensions
P1 P2 P3 M

(cnArev) bar bar bar (r/min) (r/min) mm mm

BKP0.5A1-D-0.19 0.19 200 230 250 7000 1000 60 27.2

BKP0.5A1-D-0.26 0.26 200 230 250 7000 1000 60.5 27.5

BKP0.5A1-D-0.38 0.38 200 230 250 7000 1000 61.5 28

BKP0.5A1-D-0.50 0.50 200 230 250 7000 1000 62.5 28.5

BKP0.5A1-D-0.65 0.65 200 230 250 7000 1000 63.5 29

BKP0.5A1-M.75 0.75 200 230 250 7000 1000 64.5 29.5

BKP0.5A1-D-0.88 0.88 200 230 250 7000 1000 65.5 30

BKP0.5A1-D-1.00 1.00 200 230 250 6000 850 66.5 30.5

BKP0.5A1-D-1.25 1.25 200 230 250 5000 700 68.5 31.5

BKP0.5A1-D-1.50 1.50 200 230 250 4000 600 70.5 32.5

BKP0.5A1-D-1.75 1.75 180 210 230 4000 600 72.5 33.5

BKP0.5A1-D-2.00 2.00 160 190 210 3000 500 74.5 34.5

9



BKP0.5B2R-VQ1

х

-  Г f, 

I f l

Ф=Г

End cover: G1/4 thread depth 12. 
To mount the pump, n.2 M5 screws, 
with a torque wrench setting fixed 
at 5.4 ± 0.5 Nm.

INLET OUTLET

A-A
C-OJ31
b -0-06

Type Displacement Max pressure 

P1 | P2 P3

Max.speed Min. speed Dimensions 

M | N
(ortfrev) bar bar bar (r/min) mm mm

BKP0.5B2-R-0.19-VQ1 0.19 150 170 190 7000 1000 68 51

BKP0.5B2-R-0.26-VQ1 0.26 150 170 190 7000 1000 68.5 51.5

BKP0.5B2-R-0.38-VQ1 0.38 150 170 190 7000 1000 69.5 52.5

BKP0.5B2-R-0.50-VQ1 0.50 150 170 190 7000 1000 70.5 53.5

BKP0.5B2-R-0.65-VQ1 0.65 150 170 190 7000 1000 71.5 54.5

BKP0.5B2-R-0.75-VQ1 0.75 150 170 190 7000 1000 72.5 55.5

BKP0.5B2-R-0.88-VQ1 0.88 150 170 190 7000 1000 73.5 56.5

BKP0.5B2-R-1.00-VQ1 1.00 150 170 190 6000 850 74.5 57.5

BKP0.5B2-R-1.25-VQ1 1.25 150 170 190 5000 700 76.5 59.5

BKP0.5B2-R-1.50-VQ1 1.50 150 170 190 4000 600 78.5 61.5

BKP0.5B2-R-1.75-VQ1 1.75 150 170 190 4000 600 80.5 63.5

BKP0.5B2-R-2.00-VQ1 2.00 150 170 190 3000 500 82.5 65.5

10



ВКР0.5

FRONT COVER SHAFTS
9.5

5.5

i i i i i--1

Max.Torque

9.5

10 Nm

5.5

Max.Torque 8N m

h

I I I I

2

Max.Torque

9.5

10 Nm

5.5

MaxJorque 8N m

I I I II—*

2

Max.Torque 10 Nm

9.5

5.5

MaxJorque 8N m

8 8

1
1
1

1
1

1
с о
в».

О  2

Max.Torque 10 Nm Max.Torque 8N m

П



ВКР0.5

PORTS

12



ВКР1

HOW TO ORDER

вк Front cover Rotation Size Shaft Ports Ports position Seals Options

Series
P- Pump

Group QO

Q1

02

D Clockwise

S Counter
clockwise

R Reversible

0.8
1.1
1.3

2.1
2.7
3.2
3.7
4.2

Ports position____________
Omit-Skie inlet and side outlet 

А-Front inlet and front outlet 
B-Back inlet and front outlet 
О-Back inlet and side outlet 
D-Side inlet and front outlet 
R-Back inlet and back outlet

Seals_______________________________________________________
Omit-Range between -10'C and +80 0 ,inlet pressure up to max. 3 bar absolute. 
V-Version suitable for fluid at hi-temperatures, range between -10‘C and +120T). 
H-Version suteble for fluid at low-temperatures, range between -4CC and +80U 
Т-Version suitable for inlet pressure up to max. 3 and 6 bar absolute.
N-Version sutoble for inlet pressure up to max. 3 and 10 bar absolute.

Examples:_____________________________________________________________________________________________________

BKP1-Q0-D-0.8-G0-L1 -B= clockwise rotation, 0.8 cc/rev, 00 front cover, GO tang shaft, setting ports L1 type, back inlet and front outlet (B), standard seals

BKP1-Q1 -D-0.8-G0-L3= clockwise rotation, 0.8 cc/rev, 01 front cover, GO tang shaft, setting ports L3 type, standard seals

BKP1-B0-D-C.8-T0-F0-N= clockwise rotation, 0.8 cc/rev, BO front cover, 1:8 tapered shaft|T0), setting ports FO type, high pressure seals(N)

13



End cover: G3/8 thread depth 12.
To mount the pump, n.2 M8 screws, 
with a torque wrench setting fixed 
at 27 ± 3 Nm.

INLET OUTLET

Type Displacement Max pressure 

PI | P2

Max. speed Min. speed Dimensions 

M | N
(cntffrev) bar bar bar (r/min) mm mm

BKP1Q0-D-0.8 0.8 230 250 270 6000 1000 73.5 61.5

BKP1Q0-D-1.1 1.1 230 250 270 6000 1000 74 62

BKP1Q0-D-1.3 1.3 230 250 270 6000 1000 75 63

BKP1Q0-D-1.6 1.6 230 250 270 6000 1000 76 64

BKP1Q0-D-1.8 1.8 230 250 270 6000 1000 77 65

ВКР10СЮ-2.1 2.1 230 250 270 6000 1000 78 66

BKP1Q0-D-2.7 2.7 230 250 270 6000 800 80 68

BKP1Q0-D-3.2 3.2 210 230 250 5000 800 82 70

BKP1Q0-D-3.7 3.7 210 230 250 4500 800 84 72

BKP1Q0-D-4.2 4.2 210 230 250 4000 800 86 74

BKP1Q0-EM.8 4.8 190 210 230 3500 600 88 76

BKP1Q0-D-5.8 5.8 190 210 230 3000 600 92 80

BKP1Q0-D-7.0 7.0 160 180 200 2500 600 96 84

BKP1Q0-D-8.0 8.0 160 180 200 2100 600 100 88

BKP1Q0

14



BKP1Q1

OUTLET

M6 threads depth 12.
To mount the pump, n.2 M8 screws, 
with a torque wrench setting fixed 
at27±3Nm.

INLET

Type Displacement Max pressure 

P1 I P2 P3

Max. speed Min. speed

M

Dimensions

N L
(ctrrVrev) bar bar bar (r/min) mm mm mm

BKP1Q1-D-0.8 0.8 230 250 270 6000 1000 73.5 61.5 32.8

BKP1Q1-D-1.1 1.1 230 250 270 6000 1000 74 62 33

BKP1Q1-D-1.3 1.3 230 250 270 6000 1000 75 63 33.5

BKP1Q1-D-1.6 1.6 230 250 270 6000 1000 76 64 34

BKP1Q1-D-1.8 1.8 230 250 270 6000 1000 77 65 34.5

BKP1Q1-D-2.1 2.1 230 250 270 6000 1000 78 66 35

BKP1Q1-D-2.7 2.7 230 250 270 6000 800 80 68 36

BKP1Q1-0-32 3.2 210 230 250 5000 800 82 70 37

BKP1Q1-D-3.7 3.7 210 230 250 4500 800 84 72 38

BKP1Q1-CM.2 4.2 210 230 250 4000 800 86 74 39

8KP1Q1-D4.8 4.8 190 210 230 3500 600 88 76 40

8KP1Q1-D-5.8 5.8 190 210 230 3000 600 92 80 42

BKP1Q1-D-7.0 7.0 160 180 200 2500 600 96 84 44

BKP1Q1-M.0 8.0 160 180 200 2100 600 100 88 46

15



BKP1Q2

f t

' X

1  ' , #
• J . t  §

% ч

G3/8 threads depth 12.
To mount the pump, n.2 M8 screws, 
with a torque wrench setting fixed 
at 27 + 3 Nm.

OUTLET INLET

Type Displacement Max pressure 

P1 | P2 P3

Max. speed Min. speed

M

Dimensions

N L
(cnrVrev) bar bar bar (r/min) mm mm mm

BKP1Q2-D-0.8 0.8 230 250 270 6000 1000 73.5 61.5 32.8

BKP1Q2-D-1.1 1.1 230 250 270 6000 1000 74 62 33

BKP1Q2-D-1.3 1.3 230 250 270 6000 1000 75 63 33.5

BKP1Q2-D-1.6 1.6 230 250 270 6000 1000 76 64 34

BKP1Q2-D-1.8 1.8 230 250 270 6000 1000 77 65 34.5

BKP1Q2-D-2.1 2.1 230 250 270 6000 1000 78 66 35

BKP1Q2-D-2.7 2.7 230 250 270 6000 800 80 68 36

BKP1Q2-D-3.2 3.2 210 230 250 5000 800 82 70 37

BKP1Q2-D-3.7 3.7 210 230 250 4500 800 84 72 38

BKP1Q2-CM.2 4.2 210 230 250 4000 800 86 74 39

BKP1Q2-D-4.8 4.8 190 210 230 3500 600 88 76 40

BKP1Q2-D-5.8 5.8 190 210 230 3000 600 92 80 42

BKP1Q2-D-7.0 7.0 160 180 200 2500 600 96 84 44

BKP1Q2-D-8.0 8.0 160 180 200 2100 600 100 88 46

16



ВКР1В0

I  .

* v  %

M6 thread depth 12.
To mount the pump, n.4 M8 screws, 
with a torque wrench setting fixed 
at27±3Nm.
Shaft M7 nut, with a torque wrench 
setting fixed at 8 Nm.

OUTLET INLET

Type Displacement Max pressure 

P1 I P2 P3

Max. speed Min. speed Dimensions 

M | L
(ctrrVrev) bar bar bar (r/min) mm mm

8KP1B0-D-0.8 0.8 230 250 270 6000 1000 73.5 32.8

BKP1B0-D-1.1 1.1 230 250 270 6000 1000 74 33

8KP1B0-D-1.3 1.3 230 250 270 6000 1000 75 33.5

BKP1B0-D-1.6 1.6 230 250 270 6000 1000 76 34

8KP1B0-D-1.8 1.8 230 250 270 6000 1000 77 34.5

BKP180-D-2.1 2.1 230 250 270 6000 1000 78 35

BKP1B0-D-2.7 2.7 230 250 270 6000 800 80 36

8KP1B0-D-3.2 3.2 210 230 250 5000 800 82 37

8KP180-D-3.7 3.7 210 230 250 4500 800 84 38

BKP1B0-D-4.2 4.2 210 230 250 4000 800 86 39

8KP1B0-D-4.8 4.8 190 210 230 3500 600 88 40

BKP1B0-D-5.8 5.8 190 210 230 3000 600 92 42

BKP1B0-D-7.0 7.0 160 180 200 2500 600 96 44

8KP180-M.0 8.0 160 180 200 2100 600 100 46

17



9 2
5.4

3

BKP1B0-Y

>
г

Г '
i 5 h l

Ш !

М6 thread depth 12.
То mount the pump, n.4 M8 screws, 
with a torque wrench setting fixed 
at 27 ±3 Nm.

Shaft M7 nut, with a torque wrench 
setting fixed at 8 Nm.

OUTLET

4 15.3

INLET

Type Displacement Max pressure 

P1 I P2 P3

Max. speed Min. speed Dimensions 
M 1 L

(cm /rev) bar bar bar (r/min) (r/min) mm mm

BKP1B0-D-0.8-Y 0.8 230 250 270 6000 1000 82.5 32.8

BKP1B0-D-1.1-Y 1.1 230 250 270 6000 1000 83 33

BKP1BO-D-1.3-Y 1.3 230 250 270 6000 1000 84 33.5

BKP1B0-D-1.6-Y 1.6 230 250 270 6000 1000 85 34

BKP1B0-D-1.8-Y 1.8 230 250 270 6000 1000 86 34.5

BKP1B0-D-2.1-Y 2.1 230 250 270 6000 1000 87 35

BKP1B0-D-2.7-Y 2.7 230 250 270 6000 800 89 36

BKP1B0-D-3.2-Y 3.2 210 230 250 5000 800 91 37

BKP1B0-D-3.7-Y 3.7 210 230 250 4500 800 93 38

BKP1B0-D-4.2-Y 4.2 210 230 250 4000 800 95 39

BKP1B0-D-4.8-Y 4.8 190 210 230 3500 600 97 40

BKP1B0-D-5.8-Y 5.8 190 210 230 3000 600 101 42

BKP1BO-D-7.0-Y 7.0 160 180 200 2500 600 105 44

BKP1BO-D-8.0-Y 8.0 160 180 200 2100 600 109 46

18



BHLP1

HIGH-LOW MUULTIPLE PUMPS

BHLP1 High-Low hydraulic gear pumps is
the very ideal pump for applications which
require a quick approach and/or return of
the actuator at low loads and slow motion
of the actuator at high loads. In particular
this model offers the advantage of requiring
lower power of the motor.
BHLP1 High-Low hydraulic gear pumps is 
a special double stage pump with special 
integrated valves (as shown in the hydraulic 
diagram) has been specially designed for 

applications such as trash compactors, log 
splitters, clamping mechanisms, crimping 
machines, metal forming machines etc.

Technical features

First stage Low displacement high pressure From l. 1cm 3/r evto 3.2cm 3/r ev-P1= 230 bar

Second stage High displacement low pressure From 3.7cm 3/r ev to 9.8cm 3/r ev- ( Pressure set by unloading val ve)

Unloading valve Standard setting 3 5 bar

RPM pump range From 1000 rpm to 3500 ipm

Flanges and shafts Ref. BKP1 catalogue

Ports Common inlet. Common outlet. Side ports code L5

1. First stage high pressure

2. Second stage low pressure

3. Unloading valve

19



ВКР1

FRONT COVER SHAFTS

и it
11 ' !  и  m  
U K

6.5

у

U-tl

1:8

f£>ZA

Max.Torque

и i i  и i i  и i i  U"Ul

20 Nm

6.5

Max.Torque 25 Nm

^  2.4

m

■&-15 
< 3  2

MaxJorque 20 Nm

VS[

У

' У / р $  
Y y

0.6

4.5

MaxJorque 25 Nm Max.Torque 23 Nm

Max.Torque 20 Nm

6.5

■e>- 1:8
< 3  2.4

MaxJorque 20 Nm Max.Torque 25 Nm

20



ВКР1

PORTS

21



ВКР1

PORTS

INLET OUTLET
в С a

1__ 12 Мб 30 г 3 3

BKP1...0.8 г BKP1...8.0 I 30 | 12 | M6 | 30 | 12 I M6

22



ВАР1 [ВНМ1]

HOW TO ORDER

BA P 1 Front cover Rotation Size Shaft Ports Ports position Seals Options

Series
P- Pump

Group BO D Clockwise
1.4
2.1

BA-Front ano 
end cover 
material 

aluminum

M- Motor
AO S Counter

clockwise

2.8
3.5

00
4.1

R Reversible
5.2
6.2

BH-Front ana 
end cover material 

cast iron, 
pressure than 

'BA'series high 
30 bar.

7.6
9.3

11.0
13.8

Options

Drain

00- internal drain
01-  external drain 61/4
Q2- external drain 7/16-20 UNF 
03- external drain 9/16-18 UNF

Ports position____________
Omit-Side inlet and side outlet 

А-Front inlet and front outlet 
e-Back inlet and front outlet 
С-Back inlet and side outlet 
D-Side inlet and front outlet 
R-Back inlet and back outlet

Seals_______________________________________________________
Omit-Range between -MIS and +80ID,inlet pressure up to max. 3 bar absolute. 
V-Version suitable for fluid at hi-temperatures, range between -10'C and +1200. 
H-Version suitable for fluid at low-temperatures, range between -40 T) and +80C. 
T-VerskHi suitable for inlet pressure up to max. 3 and 6 bar absolute.
N-Version suitable for inlet pressure up to max. 3 and 10 bar absolute.

Examples:_______________________________________________________________________________________

BAP1-B0-D-1-4-T0-E0 = clockwise rotation, 1.4 cc/rev, BO front cover, 1:8 tapered shaftfTO), setting ports EO type, standard seals

BAP1-A0-D-1,4-CO-RO = clockwise rotation, 1.4 cc/rev, AO front cover, CO parallel shaft, setting ports RO type, standard seals

BAP1-Q0-D-1.4-C2-U0-N= clockwise rotation, 1.4 cc/rev. 00 front cover, C2 parallel shaft, setting ports UO type, high pressure seals(N)

23



ВАР1В0

М6 thread depth 13.
To mount the pump, n.4 M8 screws, 
with a torque wrench setting fixed 
at 27 ± 3 Nm.
Shaft M10 nut, with a torque wrench 
setting fixed at 40 Nm.

OUTLET INLET
35

П.4М6 16.5 .11.5

Type Displacement Max pressure 

PI I P2 | P3

Max.speed Min. speed Dimensions

M | L
(citftrev) bar bar bar (r/min) mm mm

BAP1B0-D-1.4 1.4 250 270 290 6000 800 80.5 40

8AP1B0-D-2.1 2.1 250 270 290 6000 800 82.5 41

BAP1B0-D-2.8 2.8 250 270 290 5000 800 84.5 42

BAP1B0-D-3.5 3.5 250 270 290 5000 800 86.5 43

8AP1B0-CW.1 4.1 250 270 290 4000 800 88.5 44

BAP1B0-O-5.2 5.2 230 245 260 4000 800 91.5 45.5

BAP1B0-D-6.2 6.2 230 245 260 3800 800 94.5 47

BAP1B0-D-7.6 7.6 200 215 230 3200 600 98.5 49

BAP1B0-D-9.3 9.3 180 195 210 2600 600 103.5 51.5

8AP1B0-D-11.0 11.0 170 185 200 2200 600 108.5 54

BAP1B0-D-13.8 13.8 150 165 180 1800 600 116.5 58

24



ВАР1А0

'D ' and "d" ports are machined in 
compliance with threaded port with 
О-ring seal in truncated housing 
SAE J1926/1 (ISO J1926-1).

To mount the pump, n.4 M8 screws, 
with a torque wrench setting fixed 
at27±3Nm.

OUTLET INLET

□

*A

A-A

6.4

I7

M 27

12.5

F \

3.18

Type Displacement h

P1

(ax pressure 

| P2 | P3

Max. speed Min. speed

м L

Dimensions

o d
(cntfrev) bar bar bar (r/min) mm mm

BAP1A0-D-1.4 1.4 250 270 290 6000 800 82.5 42 PT1/2 PT3/8

BAP1A0-D-2.1 2.1 250 270 290 6000 800 84.5 43 PT1/2 PT3/8

BAP1A0-D-2.8 2.8 250 270 290 5000 800 86.5 44 PT1/2 PT3/8

BAP1A0-D-3.5 3.5 250 270 290 5000 800 88.5 45 PT1/2 PT3/8

BAP1A0-D-4.1 4.1 250 270 290 4000 800 90.5 46 PT1/2 PT3/8

BAP1A0-D-5.2 5.2 230 245 260 4000 800 93.5 47.5 PT1/2 PT3/8

BAP1A0-D-6.2 6.2 230 245 260 3500 800 96.5 49 PT1/2 PT3/8

BAP1A0-D-7.6 7.6 200 215 230 3000 600 100.5 51 PT3/4 PT1/2

BAP1A0-D-9.3 9.3 180 195 210 2500 600 105.5 53.5 PT3/4 PT1/2

BAP1A0-D-11.0 11.0 170 185 200 2500 600 110.5 56 PT3/4 PT1/2

BAP1A0-D-13.8 13.8 150 165 180 2000 600 118.5 60 PT3/4 PT1/2

25



BAP1Q0

*D' and "d‘ ports are machined in 
compliance with threaded port with 
О-ring seal in truncated housing 
SAE J1926/1 (ISO J1926-1).

To mount the pump, n.4 M8 screws, 
with a torque wrench setting fixed 
at27±3Nm.

OUTLET INLET

A-A

J
J

1
n

V r )

d
I /

3.18

Type Displacement Max pressure 

P1 I P2 P3

Max. speed Min. speed

M L

Dimensions

I D | d
(crtflfrev) bar bar bar (r/min) (r/min) mm mm

BAP1Q0-D-1.4 1.4 250 270 290 6000 800 98 59 3/4-16UNF 9/16-18UNF

BAP1Q0-D-2.1 2.1 250 270 290 6000 800 100 60 3/4-16UNF 9/16-18UNF

BAP1Q0-D-2.8 2.8 250 270 290 5000 800 102 61 3/4-16UNF 9/16-18UNF

BAP1Q0-D-3.5 3.5 250 270 290 5000 800 104 62 3/4-16UNF 9/16-18UNF

BAP1Q0-D-4.1 4.1 250 270 290 4000 800 106 63 3/4-16UNF 9/16-18UNF

BAP1Q0-D-5.2 5.2 230 245 260 4000 800 109 64.5 3/4-16UNF 9/16-18UNF

BAP1Q0-D-6.2 6.2 230 245 260 3500 800 112 66 3/4-16UNF 9/16-18UNF

BAP1Q0-D-7.6 7.6 200 215 230 3000 600 116 68 7/8-14UNF 3/4-16UNF

BAP1Q0-D-9.3 9.3 180 195 210 2500 600 121 70.5 7/8-14UNF 3/4-16UNF

ВАР1СЮО-11.0 11.0 170 185 200 2500 600 126 73 7/8-14UNF 3/4-16UNF

BAP1CX)-D-13.8 13.8 150 165 180 2000 600 134 77 7/8-14UNF 3/4-16UNF

26



ВНМ1А0

"D" and "d" ports are machined in 
compliancewith threaded port with 
О-ring seal in truncated housing 

SAEJ1926/1(ISOJ1926-1).
To mount the pump, n.4 M8 screws, 
with a torque wrench settinq fixed

Pp= max peak input pressure
Pc= max pressure continually as output counterpressure
Pi= max peak input pressure continually

3.18

Type Displacement Max pressure Max.speed Min. speed Dimensions
Pi PC Pp M L D

(cm r̂ev) bar bar bar (r/min) (r/min) mm mm

BHM1A0-R-1.4-Q1 1.4 270 260 290 5000 800 82.5 42 34-16UNF

BHM1A0-R-2.1 -Q1 2.1 270 260 290 5000 800 84.5 43 3'4-16UNF

BHM1A0-R-2.8 -Q1 2.8 270 260 290 5000 800 86.5 44 S4-16UNF

BHM1A0-R-3.5 -Q1 3.5 270 260 290 5000 800 88.5 45 3M6UNF

BHM1A0-R-4.1 -01 4.1 270 260 290 4000 800 90.5 46 3/4-16UNF

BHM1A0-R-5.2 -01 5.2 260 250 275 3500 800 93.5 47.5 3/4-16UNF

BHM1A0-R-6.2 -Q1 6.2 260 250 275 3000 800 96.5 49 3/4-16UNF

BHM1A0-R-7.6 -01 7.6 230 220 245 3000 600 100.5 51 7/8-14UNF

BHM1A0-R-9.3 -01 9.3 210 200 225 3000 600 105.5 53.5 7/8-14UNF

BHM1A0-R-11.0 -01 11.0 200 190 215 2500 600 110.5 56 7/8-14UNF

BHM1A0-R-13.8 -01 13.8 180 170 195 2200 600 118.5 60 7/8-14UNF

27



ВАР1

FRONT COVER SHAFTS

16.5

Is,

35
11.5

Max.Torque 100 Nm

27

hJ 

^  3.18

Max.Torque 55 Nm

27 
19'n

m
hJ

DP20/40-30’ -9T

27

6.5

MaxJorque
45 Nm

Г

8.5

3.2 I

П
] — OJ

[
'

I

Max.Torque

38.2

60 Nm Max.Torque 100 Nm

3.18

Max.Torque 70 Nm

7.1

MaxJorque 100 Nm MaxJorque 95 Nm MaxJorque 45 Nm

28



ВАР1 [ВНР1]

PORTS

EO

TYPE PORTS CODE INLET OUTLET

BAP1...1.4 BAP1...3.5 LO G1/2 63'8

BAP1...4.1 BAP1...13.8 L1 G1/2 61/2

BAP1...1.4 BAP1...3.5 12 G3'8 63'8

BAP1...4.1 8AP1...13.8 L3 63/4 61/2

R0/R1/R2/R3

TYPE PORTS CODE INLET OUTLET

BAP1...1.4 *  BAP1...62 RO PT1/2 PT3/8

BAP1...7.6 4 BAP1...13.8 R1 PT3/4 PT1/2

BAP1...1.4 *  BAP1...13.8 R2 PT1/2 PT1/2

BAP1...1.4 4 BAP1...6.2 R3 PT3/8 PT3/8

U0/U1/U2/U3

TYPE PORTS CODE INLET OUTLET

BAP1...1.4 BAP1...6.2 UO 3/4-16UNF 9/16-18UNF

BAP1...7.6 BAP1...13.8 U1 7/8-14UNF 3/4-16UNF

BAP1...1.4 BAP1...6.2 UO 3'4-16UNF 3/4-16UNF

BAP1...7.6 BAP1...13.8 U1 7/8-14UNF 7/8-14UNF

29



ВАР1.5

HOW TO ORDER

BA P 1.5 Front cover Rotation Size Shaft Ports Ports position Seals Options

P- Puim M  
Series Group D Clockwise

2
3

S Counter
clockwise

4
5
6

R Reversible
8
9
11
12

Seals_______________________________________________________

Omit-Range between -10'C and 4 0  C,inlet pressure up to max. 3 bar absolute.
V-Version suitable for fluid at hi-temperatures, range between -1 (ГС and +120X1. 
H-Version suitable for fluid at low-temperatures, range between -40"C and +80t. 
Т-Version suitable for inlet pressure up to max. 3 and 6 bar absolute.
N-Version suitable for inlet pressure up to max. 3 and 10 bar absolute.

Options

Pressure relief valve. Pressure relief valve.
Discharge returned to suction. Discharge returned to externally.
P1=5...250 bar. P1= 5...250 bar.

Ordering code

| Y |180xx | | P |120xx |

Examples:_____________________________________________________________________________________

BAP1.5-QO-D-2-CO-EO = clockwise rotation, 2 cc/rev, Q0 front cover, CO parallel shaft, setting ports EO type, standard seals

BAP1,5-QO-D-2-CO-EO-N= clockwise rotation, 2 cc/rev, QO front cover, CO parallel shaft, setting ports EO type, high pressure seals(N)

30



BAP1.5Q0

М6 thread depth 16.
To mount the pump, n.4 M10 screws, 
with a torque wrench setting fixed 
at47±3Nm.

OUTLET INLET

81.5

Type Displacement h

PI

(ax pressure

P2 I P3

Max. speed Min. speed Dimensions

M
(cnrVrev) bar bar bar (r/min) (r/min) mm

BAP1.5Q0-D-2 2 210 230 250 5000 900 96.7

BAP1.5Q0-D-3 3 210 230 250 5000 850 96.7

BAP1.5Q0-CM 4 210 230 250 4500 800 96.7

BAP1.5Q0-D-5 5 210 230 250 4000 800 96.7

BAP1.500-D-6 6 210 230 250 3500 700 99.7

BAP1.5Q0-M 8 210 230 250 3000 600 99.7

8AP1.5Q0-D-9 9 180 200 220 2500 550 102.7

BAP1.500-0-11 11 180 200 220 2000 500 105.7

BAP1.5Q0-D-12 12 180 200 220 2000 500 105.7

31



BAP1.5Q0-PX

М6 thread depth 16.
To mount the pump, n.4 M10 screws, 
with a torque wrench setting fixed 
at47±3Nm.

Г

t5h! 
Г ? .

Type Displacement

P1

lax pressure

P2 P3

Max. speed Min. speed Dimensions

M
(crrrVrev) bar bar bar (r/min) mm

BAP1.5Q0-D-2-P* 2 210 230 250 5000 900 96.7

BAP1.5Q0-D-3-Px 3 210 230 250 5000 850 96.7

BAP1.5Q0-D—4-Px 4 210 230 250 4500 800 96.7

BAP1.5Q0-D-5-PX 5 210 230 250 4000 800 96.7
BAP1.5Q0-D-6-PX 6 210 230 250 3500 700 99.7

BAP1.500-0-8-Px 8 210 230 250 3000 600 99.7

BAP1.5Q0-D-9-Px 9 180 200 220 2500 550 102.7

BAP1.5Q0-D-11-PX t1 180 200 220 2000 500 105.7

BAP1.5Q0-D-12-P* 12 180 200 220 2000 500 105.7

32



ВАР1.5

FRONT COVER SHAFTS
63.5 11 35.5

h  •- 12
! i 1
44--------
! i

cr>CO

Max.Torque 60 Nm MaxJorque 100 Nm

PORTS

TYPE INLET OUTLET

BAP1.5...2 т  BAP1.5...12 252 14.5 M6 25.2 14.5I.5 | M6 |

33



BAP2IBHP2]

HOW TO ORDER

BA P 2 Front cover Rotation Size Shaft Ports Ports position Seals Options

Series

BA-Front and 
end cover 
material 

aluminum

BH-Frontand 
end cover material 

cast iron, 
pressure than 

'BA'series high 
30 bar.

P- Pump

M- Motor
Group AO

BO

B2

Q0

Q1

Q2

D Clockwise
3
4

S Counter
clockwise

6
8

10

R Reversible
12
14
16
18
20
22
25
28
30

Ports position

Omit-SkJe inlet and side outlet 
B-Back inlet and front outlet 
С-Back inlet and side outlet 
D-Side inlet and front outlet 
R-Back inlet and back outlet

Drain

QO- internal drain 
Qt -external drain G1/4 
Q2- external drain 9/16-18 UNF 
Q3- external drain 7/16-20 UNF 
04- external drain M12x1.5

Seals
Omil-Range between -10S and +80C,inlet pressure up to max. 3 bar absolute. 
V-Version suitable for fluid at hi-temperatures, range between -10'C and +120X). 
H-Version suitable for fluid at low-temperatures, range between -40£ and +80T!. 
Т-Version suitable for inlet pressure up to max. 3 and 6 bar absolute.
N-Version suitable for inlet pressure up to max. 3 and 10 bar absolute.

Options

Occnst Qcoret

Pressure relief valve.
Discharge returned to suction.
P1= 5...250 bar.

Ordering code 

I Y 1180xx~]

Examples:___________
BHP2-B0-D-3-T0-E0 = clockwise rotation, 3 cc/rev, BO front cover, 1:8 tapered shaft(T0), setting ports EO type, standard seals 

BAP2-A0-D-3-C0-U0 = clockwise rotation, 3 cc/rev, AO front cover, CO parallel shaft, setting ports UO type, standard seals 

BHP2-Q0-D-3-T1 -F0-N= clockwise rotation, 3 cc/rev, 00 front cover, 1:8 tapered shaft(TO), setting ports FO type, high pressure seals(N)

Pressure relief valve.
Discharge relumed to externally. 
P1= 5...250 bar.

P 120xx

3-way flow control valve 
with pressure relief valve. 
Excess How returned to suction. 
P1=100...180 bar.
Qconst= 2...30 l/min.

I F | 15015 |

3-way flow control valve. 
Excess flow returned to suction. 
Qconst= 2...30 Lymin.

I Q | xxx15

34



ВНР2В0

М6 thread depth 13,M8 thread depth 17. 
To mount the pump, n.4 M10 screws, 
with a torque wrench setting fixed 
at 70...75 Nm.
Shaft M12x1.25 nut, with a torque 
wrench setting fixed at 50 Nm.

OUTLET

m

1 -A

Bf

44r>V
ж

3.165*;

INLET

A-A

Type Displacement Max pressure 

P1 I P2 | P3

Max. speed Min. speed

M U J L U

Dimensions 

| D | H |L_b__IL X J
(cm r̂ev) bar bar bar (r/min) (r/min) mm mm mm mm mm mm

BHP2B0-D-3 3 270 285 300 4000 800 91.1 43.6 30 13 M6 30 13 M6

BHP2B0-D-4 4 270 285 300 4000 600 92.7 44.4 30 13 M6 30 13 M6

BHP2B0-D-6 6 270 285 300 4000 600 96 46 30 13 M6 30 13 M6

BHP2B0-D-8 8 270 285 300 3500 500 99.3 47.7 30 13 M6 30 13 M6

BHP2BO-CMO 10 270 285 300 3000 500 102.6 49.3 40 20 M8 30 13 M6

BHP2B0-D-12 12 270 285 300 3000 500 105.9 51 40 20 M8 30 13 M6

BHP2B0-D-14 14 250 265 280 4000 500 109.3 52.7 40 20 M8 30 13 M6

BHP2B0-D-16 16 250 265 280 4000 500 112.7 54.4 40 20 M8 30 13 M6

BHP2B0-D-18 18 250 265 280 3600 400 116 56 40 20 M8 30 13 M6

BHP2BO-D-20 20 220 235 250 3200 400 119.3 57.7 40 20 M8 30 13 M6

BHP2B0-D-22 22 220 235 250 3000 400 122.6 59.3 40 20 M8 30 13 M6

BHP2B0-D-25 25 200 215 230 3000 400 127.6 61.8 40 22 M8 30 13 M6

BHP2BO-D-28 28 180 190 200 2500 400 132.6 64.3 40 22 M8 30 13 M6

BHP2BO-D-30 30 160 170 180 2500 400 135.9 66 40 22 M8 30 13 M6

35



ВНР2В1

Ъ ч М8 thread depth 16.
То mount the pump, П.4М10 screws, 

^  ~  ^  U  with a torque wrench setting fixed

З н  at 70...75 Nm.

» i t *

OUTLET INLET

A-A
e 0 
° - 0 0 3

a

" a

M8

38

M8

S

Ж

13.5

- t
8 3

1 ?

Type Displacement N

P1

lax pressure

1 P2 P3

Max.speed Min. speed

M

Dimensions 

I L | D d
(cntfrev) bar bar bar (r/min) mm mm mm mm

BHP2B1-D-3 3 270 285 300 4000 800 91.1 43.6 14 10

BHP2B1-D-4 4 270 285 300 4000 600 92.7 44.4 14 10

BHP2B1-M 6 270 285 300 4000 600 96 46 14 10

BHP2B1-0-8 8 270 285 300 3500 500 99.3 47.7 14 10

BHP2B1-0-10 10 270 285 300 3000 500 102.6 49.3 18 15

BHP2B1-D-12 12 270 285 300 3000 500 105.9 51 18 15

BHP2B1-D-14 14 250 265 280 4000 500 109.3 52.7 18 15

BHP2B1-D-16 16 250 265 280 4000 500 112.7 54.4 18 15

BHP2B1-D-18 18 250 265 280 3600 400 116 56 18 15

BHP2B1-D-20 20 220 235 250 3200 400 119.3 57.7 18 15

BHP2B1-D-22 22 220 235 250 3000 400 122.6 59.3 18 15

BHP2B1-D-25 25 200 215 230 3000 400 127.6 61.8 20 15

BHP2B1-D-28 28 180 190 200 2500 400 132.6 64.3 20 15

BHP2B1-D-30 30 160 170 180 2500 400 135.9 66 20 15

36



ВНР2В2

M6thread depth 13.
To mount the pump, n.4 M10 screws, 
with a torque wrench setting fixed 
at 70...75 Nm.
Shaft M12x1.5 nut, with a torque 
wrench setting fixed at 50 Nm.

OUTLET INLET

Type Displacement Max pressure 

P1 | P2 P3

Max. speed Min. speed

M
Dimensions

I L э
(cnftev) bar bar bar (r/min) (r/min) mm mm mm

BHP2B2-D-3 3 270 285 300 4000 800 91.1 39.9 15

BHP2B2-D-4 4 270 285 300 4000 600 92.7 39.9 15

BHP2B2-D-6 6 270 285 300 4000 600 96 41.1 15

BHP2B2-D-8 8 270 285 300 3500 500 99.3 43.2 15

BHP282-D-10 10 270 285 300 3000 500 102.6 43.7 20

BHP2B2-D-12 12 270 285 300 3000 500 105.9 47.5 20

BHP282-D-14 14 250 265 280 4000 500 109.3 47.5 20

BHP2B2-D-16 16 250 265 280 4000 500 112.7 47.5 20

BHP2B2-D-18 18 250 265 280 3600 400 116 47.5 20

BHP2B2-D-20 20 220 235 250 3200 400 119.3 47.5 20

BHP2B2-D-22 22 220 235 250 3000 400 122.6 55.1 20

BHP2B2-D-25 25 200 215 230 3000 400 127.6 61.8 20

BHP2B2-D-28 28 180 190 200 2500 400 132.6 64.3 20

BHP2B2-D-30 30 160 170 180 2500 400 135.9 66 20

37



ВНР2А0ЕВАР2А0]

Mounting flange material 
Aluminum 
Cast iron

'D ' and'd ' ports are machined in 
compliance with threaded port with 

О-ring seal in truncated housing 
SAE J1926/1 (ISO J1926-1).

Screws tightening torque Nm
40...45

OUTLET INLET

Type Displacement Max pressure 

PI I P2 | P3

Max. speed Min. speed

M I L

Dimensions

I o I ч
(cntfrev) bar bar bar (r/min) mm mm

BHP2A0-D-3 3 270 285 300 4000 800 91.1 43.6 1 1/16-12UNF 7/8-14UNF

BHP2A0-D-4 4 270 285 300 4000 600 92.7 44.4 1 1/16-12UNF 7/8-14UNF

BHP2A0-D-6 6 270 285 300 4000 600 96 46 1 1/16-12UNF 7/8-14UNF

BHP2A0-D-8 8 270 285 300 3500 500 99.3 47.7 1 1/16-12UNF 7/8-14UNF

8HP2A0-D-10 10 270 285 300 3000 500 102.6 49.3 1 1/16-12UNF 7/8-14UNF

BHP2A0-D-12 12 270 285 300 3000 500 105.9 51 1 1/16-12UNF 7/8-14UNF

BHP2A0-D-14 14 250 265 280 4000 500 109.3 52.7 1 1/16-12UNF 7/8-14UNF

BHP2A0-D-16 16 250 265 280 4000 500 112.7 54.4 1 1/16-12UNF 7/8-14UNF

BHP2A0-D-18 18 250 265 280 3600 400 116 56 1 1/16-12UNF 7/8-14UNF

BHP2A0-D-20 20 220 235 250 3200 400 119.3 57.7 1 1/16-12UNF 7/8-14UNF

BHP2A0-D-22 22 220 235 250 3000 400 122.6 59.3 1 1/16-12UNF 7/8-14UNF

BHP2A0-D-25 25 200 215 230 3000 400 127.6 61.8 1 1/16-12UNF 7/8-14UNF

BHP2A0-D-28 28 180 190 200 2500 400 132.6 64.3 1 1/16-12UNF 7/8-14UNF

BHP2A0-D-30 30 160 170 180 2500 400 135.9 66 15/16-12UNF 7/8-14UNF

38



BHP2Q0

M6thread depth 13.
To mount the pump, n.2 M10 screws, 
with a torque wrench setting fixed 
at 45...50 Nm.
Shaft M12x1.5 nut, with a torque 
wrench setting fixed at 50 Nm.

Type Displacement Max pressure 

P1 | P2 P3

Max. speed Min. speed

M
Dimensions

I L э
(cnftev) bar bar bar (r/min) mm mm mm

BHP2Q0-D-3 3 270 285 300 4000 800 88.6 37.4 15

BHP2Q0-D-4 4 270 285 300 4000 600 90.2 37.4 15

BHP2Q0-D-6 6 270 285 300 4000 600 93.5 38.6 15

BHP2Q0-M 8 270 285 300 3500 500 96.8 40.7 15

BHP2Q0-D-10 10 270 285 300 3000 500 100.1 41.2 20

BHP2Q0-D-12 12 270 285 300 3000 500 103.4 45 20

BHP2Q0-D-14 14 250 265 280 4000 500 106.8 45 20

BHP2Q0-D-16 16 250 265 280 4000 500 110.2 45 20

BHP2Q0-D-18 18 250 265 280 3600 400 113.5 45 20

8HP2Q0-D-20 20 220 235 250 3200 400 116.8 45 20

BHP2Q0-D-22 22 220 235 250 3000 400 120.1 52.6 20

BHP2Q0-D-25 25 200 215 230 3000 400 125.1 59.3 20

BHP2Q0-D-28 28 180 190 200 2500 400 130.1 61.8 20

BHP2Q0-D-30 30 160 170 180 2500 400 133.4 63.5 20

39



BHP2Q1

М6 thread depth 13.
To mount the pump, n.2 M10 screws, 
with a torque wrench setting fixed 
at 45...50 Nm.
Shaft M12x1.5 nut, with a torque 
wrench setting fixed at 50 Nm.

OUTLET INLET

Type Displacement Max pressure 

P1 | P2 P3

Max.speed Min. speed

M
Dimensions

L c
(cntfrev) bar bar bar (r/min) mm mm mm

BHP2Q1-D-3 3 270 285 300 4000 800 88.6 37.4 15

BHP2Q1-D-4 4 270 285 300 4000 600 90.2 37.4 15

BHP2Q1-D-6 6 270 285 300 4000 600 93.5 38.6 15

BHP2Q1-M 8 270 285 300 3500 500 96.8 40.7 15

BHP2Q1-D-10 10 270 285 300 3000 500 100.1 41.2 20

BHP2Q1-D-12 12 270 285 300 3000 500 103.4 45 20

BHP2Q1-D-14 14 250 265 280 4000 500 106.8 45 20

BHP2Q1-D-16 16 250 265 280 4000 500 110.2 45 20

BHP2Q1-D-18 18 250 265 280 3600 400 113.5 45 20

BHP2Q1-D-20 20 220 235 250 3200 400 116.8 45 20

BHP2Q1-D-22 22 220 235 250 3000 400 120.1 52.6 20

BHP2Q1-D-25 25 200 215 230 3000 400 125.1 59.3 20

BHP2Q1-D-28 28 180 190 200 2500 400 130.1 61.8 20

BHP2Q1-D-30 30 160 170 180 2500 400 133.4 63.5 20

40



BHP2Q2

Мб thread depth 13.
То mount the pump, n.2 M10 screws, 
with a torque wrench setting fixed 
at 45...50 Nm.
Shaft M12x1.5 nut, with a torque 
Coupling Max. torque 70 Nm.

OUTLET

COUPLING

INLET

Type Displacement Max pressure 

P1 | P2 P3

Max. speed Min. speed

M
Dimensions

L
(cm^rev) bar bar bar (r/min) mm mm mm

BHP2Q2-D-3 3 270 285 300 4000 800 88.6 37.4 15

BHP2Q2-CM 4 270 285 300 4000 600 90.2 37.4 15

BHP2Q2-M 6 270 285 300 4000 600 93.5 38.6 15

BHP2Q2-M 8 270 285 300 3500 500 96.8 40.7 15

BHP2Q2-D-10 10 270 285 300 3000 500 100.1 41.2 20

BHP2Q2-D-12 12 270 285 300 3000 500 103.4 45 20

BHP2Q2-D-14 14 250 265 280 4000 500 106.8 45 20

BHP2Q2-0-16 16 250 265 280 4000 500 110.2 45 20

BHP2Q2-D-18 18 250 265 280 3600 400 113.5 45 20

BHP2Q2-D-20 20 220 235 250 3200 400 116.8 45 20

BHP2Q2-0-22 22 220 235 250 3000 400 120.1 52.6 20

BHP2Q2-D-25 25 200 215 230 3000 400 125.1 59.3 20

BHP2Q2-D-28 28 180 190 200 2500 400 130.1 61.8 20

BHP2Q2-D-30 30 160 170 180 2500 400 133.4 63.5 20

41



BHP2A0-R

"D" and "d" ports are machined in 
compliance with threaded port with 
О-ring seal in truncated housing 
SAE J1926/1(ISO J1926-1).

To mount the pump, n.4 M10 screws, 
with a torque wrench setting fixed 
at 70...75 Nm.

OUTLET INLET

24

12.5

F

Type Displacement Max pressure 

P1 | P2 P3

Max. speed Min. speed

M

Dimensions

o l ч
(cnftev) bar bar bar (r/min) (r/min) mm

BHP2A0-D-3-R 3 270 285 300 4000 800 103.1 1 1/16-12UNF 7/8-14UNF

BHP2A0-D4-R 4 270 285 300 4000 600 104.7 1 1/16-12UNF 7/8-14UNF

BHP2A0-D-6-R 6 270 285 300 4000 600 108 1 1/16-12UNF 7/8-14UNF

BHP2A0-D-8-R 8 270 285 300 3500 500 111.3 1 1/16-12UNF 7/8-14UNF

BHP2A0-D-10-R 10 270 285 300 3000 500 114.6 1 1/16-12UNF 7/8-14UNF

BHP2AO-0-12-R 12 270 285 300 3000 500 117.9 1 1/16-12UNF 7/8-14UNF

BHP2A0-D-14-R 14 250 265 280 4000 500 121.3 1 1/16-12UNF 7/8-14UNF

BHP2A0-D-16-R 16 250 265 280 4000 500 124.7 1 1/16-12UNF 7/8-14UNF

BHP2A0-D-18-R 18 250 265 280 3600 400 128 1 1/16-12UNF 7/8-14UNF

BHP2A0-D-20-R 20 220 235 250 3200 400 131.3 1 1/16-12UNF 7/8-14UNF

BHP2A0-D-22-R 22 220 235 250 3000 400 134.6 1 1/16-12UNF 7/8-14UNF

BHP2A0-D-25-R 25 200 215 230 3000 400 139.6 1 1/16-12UNF 7/8-14UNF

BHP2A0-D-28-R 28 180 190 200 2500 400 144.6 1 1/16-12UNF 7/8-14UNF

BHP2A0-D-3C-R 30 160 170 180 2500 400 147.9 1 1/16-12UNF 7/8-14UNF

42



08
2.5

5.

BHP2A0-FX

“D1 and'd ' ports are machined in 
compliance with threaded port with 
О-ring seal in truncated housing 
SAE J1926/1(ISO J1926-1).

To mount the pump, n.4 M10 screws, 
with a torque wrench setting fixed 
at 70...75 Nm.

OUTLET INLET

Type Displacement Control pressure Control flow Max. speed Min. speed Dimensions

P1 Qccnst M L I N D 1
(cm r̂ev) bar L/min (r/min) mm mm mm

BHP2A0-D-3-FX 3 4000 800 112.1 43.6 92.1 1 1/16-12UNF 7/8-14UNF

BHP2A0-D-4-FX 4 4000 600 113.7 44.4 93.7 1 1/16-12UNF 7/8-14UNF

BHP2A0-M-FX 6 4000 600 117 46 97 1 1/16-12UNF 7/8-14UNF

BHP2A0-M-FX 8 3500 500 120.3 47.7 100.3 1 1/16-12UNF 7/8-14UNF

BHP2AO-D-10-Fx 10 3000 500 123.6 49.3 103.6 1 1/16-12UNF 7/8-14UNF

BHP2A0-D-12-Fx 12 3000 500 126.9 51 106.9 1 1/16-12UNF 7/8-14UNF

BHP2A(HM4-Fx 14 100...180 2...30 4000 500 130.3 52.7 110.3 1 1/16-12UNF 7/8-14UNF

BHP2A0-D-16-FX 16 4000 500 133.7 54.4 113.7 1 1/16-12UNF 7/8-14UNF

BHP2A0-D-18-FX 18 3600 400 137 56 117 1 1/16-12UNF 7/8-14UNF

bhp2A0-d-20-fx 20 3200 400 140.3 57.7 120.3 1 1/16-12UNF 7/8-14UNF

BHP2A0-D-22-FX 22 3000 400 143.6 59.3 123.6 1 1/16-12UNF 7/8-14UNF

BHP2A0-D-25-Fx 25 3000 400 148.6 61.8 128.6 1 1/16-12UNF 7/8-14UNF

BHP2A0-D-28-FX 28 2500 400 153.6 64.3 133.6 1 1/16-12UNF 7/8-14UNF

BHP2A0-D-30-FX 30 2500 400 156.9 66 136.9 1 1/16-12UNF 7/8-14UNF

43



<»
36

.5
$g

BHP2B0-FAX

€

M6 thread depth 13,M18x1.5 thread depth 14. 
To mount the pump, n.4 M10 screws, 
with a torque wrench setting fixed 
at 70...75 Nm.
Shaft M12x1.25 nut, with a torque 
wrench setting fixed at 50 Nm.

Type Displacement Control pressure Control flow Max. speed Min. speed Dimensions

P1 Qcorai M 1 L I N 3
(cnrfrev) bar Umin (r/min) mm mm mm mm

BHP2B0-D-3-FAX 3 4000 800 112.1 43.6 96.1 15

BHP2B0-D-4-FAX 4 4000 600 113.7 44.4 97.7 15

BHP2B0-D-6-FAX 6 4000 600 117 46 101 15

8HP2B0-D-«-FAx 8 3500 500 120.3 47.7 104.3 15

BHP2B0-D-10-FAx 10 3000 500 123.6 49.3 107.6 20

BHP2B0-D-12-FAx 12 3000 500 126.9 51 110.9 20

BHP2B0-D-14-FAx 14 100...180 2...30 4000 500 130.3 52.7 114.3 20

BHP2B0-D-16-FAx 16 4000 500 133.7 54.4 117.7 20

BHP2B0-D-18-FAX 18 3600 400 137 56 121 20

BHP2B0-D-2O-FAX 20 3200 400 140.3 57.7 124.3 20

BHP2B0-D-22-FAX 22 3000 400 143.6 59.3 127.6 20

BHP2B0-D-25-FAx 25 3000 400 148.6 61.8 132.6 20

BHP2B0-D-28-FAX 28 2500 400 153.6 64.3 137.6 20

BHP2B0-D-3O-FAx 30 2500 400 156.9 66 140.9 20

44



ВАР2ВЗ
Pump with bearing,This option allows 
radial and/or axial loads on the pump shaft. 
M6 thread depth 13.
To mount the pump, n.4 M10 screws, 
with a torque wrench setting fixed 
at 70...75 Nm.

Shaft M14x1.5 nut, with a torque 
wrenchs etting fixe d at70 Nm.

OUTLET INLET

Type Displacement Max pressure 

PI I P2 | P3

Max. speed Min. speed

M |

Dimensions

1 I I o
(cmftev) bar bar bar (r/min) (r/min) mm mm mm

BHP2B3-D-3 3 270 285 300 4000 800 123.1 71.9 15
8HP2B3-D-4 4 270 285 300 4000 600 124.7 71.9 15

BHP2B3-D-6 6 270 285 300 4000 600 128.0 73.1 15

BHP2B3-D-8 8 270 285 300 3500 500 131.3 75.2 15

BHP2B3-D-10 to 270 285 300 3000 500 134.6 75.7 20

BHP2B3-D-12 12 270 285 300 3000 500 137.9 79.5 20

BHP2B3-D-14 14 250 265 280 4000 500 141.3 79.5 20

BHP2B3-D-16 16 250 265 280 4000 500 144.7 79.5 20

BHP2B3-D-18 18 250 265 280 3600 400 148.0 79.5 20

BHP2B3-D-20 20 220 235 250 3200 400 151.3 79.5 20

BHP2B3-D-22 22 220 235 250 3000 400 154.6 87.1 20

BHP2B3-D-25 25 200 215 230 3000 400 159.6 93.8 20

BHP2B3-D-28 28 180 190 200 2500 400 164.6 96.3 20

BHP2B3-D-30 30 160 170 180 2500 400 167.9 98.0 20

45



ВНМ2В0

М6 thread depth 13, M8 thread depth 17. 
To mount the pump, n.4 M10 screws, 
with a torque wrench setting fixed 
at 70...75 Nm.

Shaft M12x1.25 nut, with a torque 
wrenchsetting fixed at 50 Nm.

Pp = max peak inpul pressure

Pc= max pressure continually as output counterpressure

p i = max peak input pressure continual^

§ §
lO
£ □ Г .

f
A-A

I S .

Type Displacement Max pressure 

P1 | Р2 I РЗ

Max. speed Min. speed

M
Dimensions 

L В D H
(ctrrtrev) bar bar bar (r/min) mm mm mm mm

BHM2B0-R-3-Q1 3 280 270 295 4000 800 91.1 43.6 30 13 M6

8HM2B0-R-4-Q1 4 280 270 295 4000 600 92.7 44.4 30 13 M6

BHM2BO-R-6-Ot 6 280 270 295 4000 600 96.0 46.0 30 13 M6

BHM280-R-8-Q1 8 280 270 295 3500 500 99.3 47.7 30 13 M6

BHM2B0-R-10-Q1 10 280 270 295 3000 500 102.6 49.3 40 20 M8

BHM2BO-R-12-Q1 12 280 270 295 3000 500 105.9 51.0 40 20 M8

BHM2BO-R-14-Q1 14 260 250 275 4000 500 109.3 52.7 40 20 M8

BHM2BO-R-16-QI 16 260 250 275 4000 500 112.7 54.4 40 20 M8

BHM2B0-R-18-Q1 18 260 250 275 3600 400 116.0 56.0 40 20 M8

BHM2B0-R-20-Q1 20 230 220 245 3200 400 119.3 57.7 40 20 M8

BHM2B0-R-22-Q1 22 230 220 245 3000 400 122.6 59.3 40 20 M8

BHM2BO-R-25-Q1 25 210 200 225 3000 400 127.6 61.8 40 22 M8

BHM2BO-R-28-Q1 28 200 190 215 2500 400 132.6 64.3 40 22 M8

BHM2B0-R-30-Q1 30 180 170 195 2500 400 135.9 66.0 - c 22 M8

46



ВАР2[ВНР2]

FRONT COVER SHAFTS
40

i |IF
■ e - 1:1 
< ^ 3 .1 6 5

36.5
30

Ю
i l

---------

Ю

22

15

DIN5482 B17X14

b+-*—

2| w = = x O ' 

111 1

7.2

Max.Torque
200 Nm

42

Max.Torque 135 Nm

40
36 25

!“ i 32
U -------------------H 1

i CO to I—  
1 _____ Ю

CM «a.

!_
i

i
J

J-L 4-15x11.4x4

17

2 2

Г "»  
1 1 
1 1

CO Ю

CSJ

1 1 
1 1L JI

^  6

Max.Torque 150 Nm

В1 B H C2 ШШШ  HO ■ GO I

MaxJorque 150 Nm MaxJorque MaxJorque 100 Nm

72 , 38 , 36 23.5
14 Ю

\ e>.

!=

DIN5482 B17X14

Max.Torque 180 Nm

40.5

13

n
CT>

1
j

i i 17 Ю ts».

1:5 2

MaxJorque 150 Nm

n

¥

MaxJorque 150 Nm

DIN5482 B17X14

Max.Torque 180 Nm Max.Torque 100 Nm
Max.Torque 150 Nm

47



ВАР2[ВНР2]

FRONT COVER SHAFTS

7.2

8

40.5

П

M

DIN54S2 B17X14

7.2

MaxJorque 180 Nm

z$0
1—

1 
1 *

CO

( ,'a
6.5 I 2.7

MaxJorque 100 Nm Max.Torque 150 Nm

MaxJorque 100 Nm

' l. 24 
(g

3.97

32

8
P

^ 4 . 7 8

MaxJorque 140 Nm Max.Torque 160 Nm MaxJorque 180 Nm

К
l !

34.5

№ .
24

h

DP16'32-30= -10T

Max.Torque 185 Nm Max.Torque 200 Nm MaxJorque 190 Nm

48



ВАР21ВНР2]

PORTS

га

E0/E1/E2

TYPE PORTS CODE INLET OUTLET

1 f);

BA(H)P2...3 т BA(H)P2...8 EO 30 13 M6 30 13 M6

BA(H)P2...10 f  BA(H)P2...22 El 40 20 M8 30 13 M6

BA(H)P2...25 т BA(H)P2...30 E2 40 22 M8 30 13 M6

ЕЗ

TYPE INLET OUTLET

A В С a b с

BA(H)P2...3 r  BA(H)P2...8 38 14 MB 38 10 M8

BA(H)P2...10 + BA(H)P2..i2 38 18 M8 38 15 M8
BA(H)P2...25 т BA(H)P2...30 38 20 M8 38 15 M8

S'
n.4C(c)

TYPE INLET OUTLET

A В С a b с

BA(H)P2...8rBA(H)P2...10 40 13 M8 40 13 М8

BA(H)P2...12 t BA(H)P2...20 40 19 M8 40 13 М8

BA(H)P2...22 т BA(H)P2...28 40 19 М8 40 19 М8

BA(H)P2...30 40 21 М8 40 19 М8

F0/F1/F5

TYPE PORTS CODE INLET OUTLET

A В С a b с

ВА(Н)Р2...3тВА(Н)Р2...8 F0 40 15 Мб 35 15 Мб

ВА(Н)Р2...Ю т ВА(Н)Р2...30 FI 40 20 Мб 35 15 Мб

ВА(Н)Р2...16 т ВА(Н)Р2...30 F5 55 26 М8 55 18 М8

49



ВАР21ВНР2]

PORTS

1

ТУРЕ PORTS CODE INLET OUTLET

А В С D а b с d

BA(H)P2...3 т ВА(Н)Р2...16 F2 38.1 17.48 5/16-18UNC 13 38.1 17.48 5/16-18UNC 13

ВА(Н)Р2...1в т ВА(Н)Р2...20 F3 47.63 22.23 318-16UNC 20 38.1 17.48 5/16-18UNC 13

ВА(Н)Р2...22 т ВА(Н)Р2...30 F4 47.63 22.23 3/8-16UNC 20 47.63 22.23 3<8-16UNC 20

L0/L1/L3/L4

TYPE PORTS CODE INLET OUTLET

ВА(Н)Р2,..ЗтВА(Н)Р2.„6 LO G1/2 G1/2

BA(H)P2...8 т BA(H)P2...30 L1 G3/4 G1/2

BA(H)P2...16+BA(H)P2...30 L3 G1 G3/4

BA(H)P2...8 т BA(H)P2...30 L4 m Ш

R0/R1/R2

TYPE PORTS CODE INLET OUTLET

BA(H)P2...3 т BA(H)P2...12 RO РТ1У2 PT1/2

BA(H)P2...14 т BA(H)P2...25 R1 PT3/4 PT1/2

BA(H)P2...28 v BA(H)P2...30 R2 PT1 PT3/4

U0/U1/U2/U3

TYPE PORTS CODE INLET OUTLET

BA(H)P2...3 f  BA(H)P2...28 UO 11/16-12 UNF 7/8-14 UNF

BA(H)P2...30 U1 1 5/16-12 UNF 7/8-14 UNF

BA(H)P2..,3 т BA(H)P2...28 U2 7/8-14 UNF 3/4-16 UNF

BA(H)P2...8 т BA(H)P2...30 U3 1 5/16-12 UNF 11/16-12 UNF

50



BAP2.5IBHP2.5]

HOW TO ORDER

BA P 2.5 Front cover Rotation Size Shaft Potts Ports position Seals Options

Series
P- Pump

Group A0 D Clockwise
10

12.5

BA-Front and 
end cover 
material 

aluminum

A1 S Counter
clockwise

14
16
18

R Reversible
19
20

BH-Front and 
end cover material 

cast iron, 
pressure than 

'BA'series high 
30 bar.

23
25

26.5
28
30
32
36
40
45

Poits position____________
Omit-Side inlet and side outlet 

А-Front inlet and front outlet 
B-Back inlet and front outlet 
С-Back inlet and side outlet 
D-Side inlet and front outlet 
R-Back inlet and back outlet

Seals_______________________________________________________
Omit-Range between -10'C and +80 <C,inlet pressure up to max. 3 bar absolute. 
V-Version suitable for fluid at hi-temperatures, range between -10'C and +120C. 
H-Version suitable for fluid at low-temperatures, range between -40£ and +8CC. 
T-Version suitable for inlet pressure up to max. 3 and 6 bar absolute.
N-Version suitable for inlet pressure up to max. 3 and 10 bar absolute.

Examples:_______________________________________________________________________________________________
BAP2.5-A0-D-10-C0-Z0 = clockwise rotation, 10 cc/rev, AO front cover, CO parallel shaft, setting ports 20 type, standard seals

BHP2.5-A1 -D-10-C1-F0 = clockwise rotation, 10 cc/rev, A1 front cover, C1 parallel shaft, setting ports F0 type, standard seals

BHP2.5-A2-D-10-S3-U0-N= clockwise rotation, 10 cc/rev, A2 front cover, SAE В splined 13T shaft(S3), setting ports U0 type, high pressure seals(N)

51



ВАР2.5А0

М18x1.5 thread depth 15,
M22x1.5 thread depth 16,
M27x2 thread depth 19,
M33x2 thread depth 20,
To mount the pump, n.4 M12 screws, 
with a torque wrench setting fixed 
at 75...80 Nm.

lype Displacement Max pressure 

P1 I P2 P3

Max.speed Min. speed

M

Dimensions 

L | D 4
(cntfrev) bar bar bar mm mm

8AP2.5A0-D-10 10 250 270 290 4000 800 110 53.3 M22X1.5 M18x1.5

BAP2.5A0-D-12.5 12.5 250 270 290 4000 800 113 54.8 M22x1.5 M18x1.5

BAP2.5A0-D-14 14 250 270 290 4000 700 115 55.8 M22x1.5 M18x1.5

BAP2.5A0-D-16 16 250 270 290 3500 700 118 57.1 M27x2 M22x1.5

BAP2.5A0-D-18 18 250 270 290 3500 600 120 58.3 M27x2 M22x1.5

BAP2.5A0-D-19 19 250 270 290 3500 600 121 58.8 M27x2 M22x1.5

BAP2.5A0-D-20 20 250 270 290 3000 500 123 59.6 M27x2 M22x1.5

8AP2.5A0-D-23 23 230 250 260 3500 500 126 61.3 M33x2 M27x2

BAP2.5A0-D-25 25 230 250 260 3500 500 129 62.6 M33x2 M27x2

BAP2.5A0-D-26.5 26.5 230 250 260 3500 500 131 63.6 M33x2 M27x2

8AP2.5A0-D-28 28 230 250 260 3500 500 133 64.6 M33x2 M27x2

BAP2.5A0-D-30 30 230 250 260 3000 400 135 65.6 M33x2 M27x2

8AP2.5A0-D-32 32 200 230 250 3000 400 138 67.1 M33x2 M27x2

BAP2.5A0-D-36 36 200 230 250 2750 400 142 69.1 M33x2 M27x2

BAP2.5A0-D-40 40 160 180 200 2500 400 148 71.6 M33x2 M27x2

8AP2.5A0-D45 45 160 180 200 2500 400 153 74.6 M33x2 M27x2

52



BAP2.5A1lBHP2.5A1]

M10x1.25 thread depth 15.

Mounting flange material
V

Screws tightening torque Nm
Aluminum 75.80
Cast iron 130...135

OUTLET INLET

M10X1.25 12.5

*

Type Displacement Max pressure 

P1 | P2 P3

Max. speed Min. speed

M |U J L A J

Dimensions 

| В | D L a L_b__I
(cm^rev) bar bar bar (r/min) (r/min) mm mm mm mm mm mm mm mm

BAP2.5A1-D-10 10 250 270 290 4000 800 110 53.3 47.6 22.2 20 47.6 22.2 13

BAP2.5A1-0-12.5 12.5 250 270 290 4000 800 113 54.8 47.6 22.2 20 47.6 22.2 13

BAP2.5A1-D-14 14 250 270 290 4000 700 115 55.8 47.6 22.2 20 47.6 22.2 13

BAP2.5A1-D-16 16 250 270 290 3500 700 118 57.1 47.6 22.2 20 47.6 22.2 13

BAP2.5A1-D-18 18 250 270 290 3500 600 120 58.3 52.4 26.2 25 47.6 22.2 20

BAP2.5A1-D-19 19 250 270 290 3500 600 121 58.8 52.4 26.2 25 47.6 22.2 20

BAP2.5A1-D-20 20 250 270 290 3000 500 123 59.6 52.4 26.2 25 47.6 22.2 20

8AP25A1-D-23 23 230 250 260 3500 500 126 61.3 52.4 26.2 25 47.6 22.2 20

BAP2.5A1-D-25 25 230 250 260 3500 500 129 62.6 52.4 26.2 25 47.6 22.2 20

BAP2.5A1-0-26.5 26.5 230 250 260 3500 500 131 63.6 52.4 26.2 25 47.6 22.2 20

8AP2.5A1-D-28 28 230 250 260 3500 500 133 64.6 52.4 26.2 25 47.6 22.2 20

8AP2.5A1-D-30 30 230 250 260 3000 400 135 65.6 52.4 26.2 25 47.6 22.2 20

BAP2.5A1-D-32 32 200 230 250 3000 400 138 67.1 52.4 26.2 25 47.6 22.2 20

BAP2.5A1-D-36 36 200 230 250 2750 400 142 69.1 52.4 26.2 25 47.6 22.2 20

BAP2.5A1-D-40 40 160 180 200 2500 400 148 71.6 52.4 26.2 25 47.6 22.2 20

8AP2.5A1-D-45 45 160 180 200 2500 400 153 74.6 52.4

o
*j

<©C
Nj 25 47.6 22.2 20

53



ВАР2.5[ВНР2.5]

FRONT COVER SHAFTS
45

I 28
I I I I 1 I

f i11 11 11 11 8 to
V *a &

MaxJorque 200 Nm MaxJorque 240 Nm

41.5

“ 1111

28

111 CO Ю

H ta . 55

32

22

^ 4.78

Max.Torque 180 Nm Max.Torque 190 Nm

41.5

iiiI

25

S3ta.

r>

J - I  6-20x16x4 EXT12Z-1.5m-305

MaxJorque 240 Nm MaxJorque 220 Nm

Г 1  y i
+ H

s
j - J  CO

DP16/32-30' -11T 

MaxJorque 210 Nm Max.Torque 300 Nm

41.5
25

№
и

л  4-18x15x5
A1 C1 C2 HI

MaxJorque 200 Nm

39

n  23

DP16/32-30’  -10T
H2 SO S1

MaxJorque 200 Nm

54



BAP2.5IBHP2.5

PORTS

TYPE PORTS CODE INLET OUTLET

A В С b С d

BA(H)P2.5...10 r  BA(H)P2.5...16 FO 47.6 22 2 M10X1.25 20 47.6 22.2 M10x1.25 13

BA(H)P2.5...18 т BA(H)P2.5...45 F1 52.4 26 2 M10X1.25 25 47.6 22.2 M10X1.25 20

TYPE INLET OUTLET

A В С a b С

BA(H)P2.5...10 т BA(H)P2.5...16 55 20 MB 55 13 M8

BA(H)P2.5...18 v BA(H)P2.5...45 55 25 MB 55 20 M8

TYPE PORTS CODE INLET OUTLET

BA(H)P2.5...10 т 8A(H)P2.5...14 ZO M22X1.5 M18X1.5

BA(H)P2.5...16 r  BA(H)P2.5...20 Z1 M27x2 M22x1.5
BA(H)P2.5...23 r  BA(H)P2.5...45 22 M33x2 M27x2

TYPE PORTS CODE INLET OUTLET

BA(H)P2.5..,10 т BA(H)P2.5...23 UO 11/16-12 UNF 7/8-14 UNF

BA(H)P2.5...25 т BA(H)P2.5...45 U1 15/16-12 UNF 11/16-12 UNF

55



ВАР2.5[ВНР2.5]

PORTS

L0/L1

TYPE PORTS CODE INLET OUTLET

BA(H)P2.5...10 r  BA(H)P2,5...23 LO G3/4 G1/2

BA(H)P2.5...25 т BA(H)P2.5...45 LI G1 G3/4

R0/R1

TYPE PORTS CODE INLET OUTLET

A a

BA(H)P2.5...10 т BA(H)P2.5...23 RO PT3/4 PT1/2

BA(H)P2.5...25 т BA(H)P2.5...45 R1 PT1 PT3/4

56



ВНР2.6

HOW TO ORDER

BA P 2.6 Front cover Rotation Size Shaft Ports Ports position Seals Options
I -------- 1-------- -----------г

Series
P- Pump

Group B0 D Clockwise
6
8

BA-Front and 
end cover 
material 

aluminum

At S Counter
clockwise

10
12

A2
14

R Reversible
16
19

BH-Front and 
end cover material 

cast iron, 
pressure than 

‘BA'series high 
30 bar.

22
25
28
30
32
36
38
40
44

Ports position____________
Omit-Side inlet and side outlet 

А-Front inlet and front outlet 
B-Back inlet and front outlet 
С-Back inlet and side outlet 
D-Side inlet and front outlet 
R-Back inlet and back outlet

Seals_______________________________________________________
Omit-Range between -10C and +80 C,inlet pressure up to max. 3 bar absolute. 
V-Version suitable for fluid at hi-temperatures, range between -10'C and +120C. 
H-Version suitable for fluid at low-lemperatures, range between -40E and +80C. 
Т-Version suitabte for inlet pressure up to max. 3 and 6 bar absolute.
N-Version suitable for inlet pressure up to max. 3 and 10 bar absolute.

Examples:____________________________________________________________________________________________________________

BHP2.6-B0-D-10-T0-E1= clockwise rotation, 10 cc/rev, BO front cover,1:8 tapered shaft(TO), setting ports E1 type, standard seals

BHP2.6-A1-D-10-C1-F0 = clockwise rotation, Юсс/rev, A1 front cover, C1 parallel shaft, setting ports FO type, standard seals

BHP2.6-A2-D-10-S3-U0-N= clockwise rotation, 10 cc/rev, A2 front cover, SAE В splined 13T shaft( S3), setting ports U0 type, high pressure seals(N)

57



ВАР2.6В0

To mount the pump, n.4 M10 screws, 
with a torque wrench setting fixed 
at 130...135 Nm.
Shaft M14x1.5 nut.with a torque 
wrench setting fixed at 75 Nm.

OUTLET INLET

I f

u
N f t

d

13.5

47

M14x1.5

Type Displacement Max pressure 

PI | P2 I P3

Max. speed Min. speed

M lШ
Dimensions 

| D | С l _ b j :
(arf/rev) bar bar bar (r/min) mm mm mm mm mm mm

BHP2.6B0-D-6 6 250 280 300 4000 800 103 49.3 30 13 M6 30 13 M6

BHP2.6B0-D-8 8 250 280 300 4000 800 105 50.3 30 13 M6 30 13 M6

BHP2.6BO-D-10 10 250 280 300 4000 700 107 51.3 40 20 M8 30 13 M6

BHP2.6B0-D-12 12 250 280 300 3500 700 110 52.5 40 20 M8 30 13 M6

BHP2.6B0-D-14 14 250 280 300 3500 600 111 53.3 40 20 M8 30 13 M6

BHP2.6B0-D-16 16 250 280 300 3500 600 114 54.5 40 20 M8 30 13 M6

BHP2.6B0-D-19 19 250 280 300 3000 500 117 56.3 40 20 M8 30 13 M6

BHP2.6B0-D-22 22 250 280 300 3000 500 121 58.0 51 25 M10 40 18 M8

BHP2.6B0-D-25 25 250 280 300 3000 500 123 59.3 51 25 M10 40 18 M8

BHP2.6B0-D-28 28 250 280 300 3000 500 128 60.8 51 25 M10 40 18 M8

BHP2.6B0-D-30 30 230 250 260 3000 500 129 62.0 51 25 M10 40 18 M8

BHP2.6B0-D-32 32 230 250 260 3000 400 131 63.3 51 25 M10 40 18 M8

8HP2.6B0-D-36 36 200 230 250 2750 400 135 65.3 51 25 M10 40 18 M8

BHP2.6B0-D-38 38 200 230 250 2750 400 137 66.3 51 25 M10 40 18 M8

BHP2.6B0-D-40 40 170 190 210 2500 400 139 67.3 51 25 M10 40 18 M8

BHP2.6B0-D-44 44 170 190 210 2500 400 144 69.5 51 25 M10 40 18 M8

58



ВНР2.6А1

G 1 thread depth 19,
G 3/4 thread depth 16,
G 1/2 thread depth 15,
To mount the pump, n.4 M12 screws, 
with a torque wrench setting fixed 
at 130...135 Nm.

OUTLET INLET

Type Displacement Max pressure 

Pt | P2 | P3

Max. speed Min. speed Dimensions 
M | L | D | d

(crrf/rev) bar bar bar (r/min) (r/min) mm mm

BHP2.6A1-D-6 6 250 280 300 4000 800 103 49.3 G 3/4 61/2

BHP2.6A1-D-8 8 250 280 300 4000 800 105 50.3 G 3/4 61/2

BHP2.6A1-D-10 10 250 280 300 4000 700 107 51.3 G 3/4 61/2

BHP2.6A1-D—12 12 250 280 300 3500 700 110 52.5 63/4 61/2

BHP2.6A1-D-14 14 250 280 300 3500 600 111 53.3 G 3/4 61/2

BHP2.6A1-D-16 16 250 280 300 3500 600 114 54.5 G 3/4 G1/2

BHP2.6A1-D-19 19 250 280 300 3000 500 117 56.3 G 3/4 61/2

BHP2.6A1-D-22 22 250 280 300 3000 500 121 58.0 63/4 61/2

BHP2.6A1-D-25 25 250 280 300 3000 500 123 59.3 61 63'4

BHP2.6A1-D-28 28 250 280 300 3000 500 126 60.8 61 G 3/4

BHP2.6At-D-30 30 230 250 260 3000 500 129 62.0 61 63/4

BHP2.6A1-D-32 32 230 250 260 3000 400 131 63.3 61 63/4

BHP2.6A1-D-36 38 200 230 250 2750 400 135 65.3 61 63/4

BHP2.6A1-D-38 38 200 230 250 2750 400 137 66.3 61 63/4

BHP2.6A1-D-40 40 170 190 210 2500 400 139 67.3 61 63/4

BHP2.6A1-D-44 44 170 190 210 2500 400 144 69.5 61 63/4

59



ВНР2.6А2

"D" and "d" ports are machined in 
compliance with threaded port with 
О-ring seal in truncated housing 

SAE J1926/1 (ISO J1926-1).
To mount the pump, n.4 M12 screws, 
with a torque wrench setting fixed 
at 130...135 Nm.

Type Displacement Max pressure 

P1 | P2 | P3

Max. speed Min.speed Dimensions 
M | L | D | d

(cntfrev) bar bar bar (r/min) (r/min) mm mm

BHP2.6A2-D-6 6 250 280 300 4000 800 103 49.3 1 1/16-12UNF 7/8-14UNF

BHP2.6A2-D-8 8 250 280 300 4000 800 105 50.3 1 1/16-12UNF 7/8-14UNF

BHP2.6A2-D-10 10 250 280 300 4000 700 107 51.3 1 1/16-12UNF 7/8-14UNF

BHP2.6A2-D—12 12 250 280 300 3500 700 110 52.5 1 1/16-12UNF 7/8—14UNF

BHP2.6A2-D-14 14 250 280 300 3500 600 111 53.3 1 1/16-12UNF 7/8-14UNF

BHP2.6A2-D—16 16 250 280 300 3500 600 114 54.5 1 1/16-12UNF 7/8—14UNF

BHP2.6A2-D-19 19 250 280 300 3000 500 117 56.3 1 1/16-12UNF 7/8-14UNF

BHP2.6A2-D-22 22 250 280 300 3000 500 121 58.0 1 1/16-12UNF 7/8-14UNF

BHP2.6A2-D-25 25 250 280 300 3000 500 123 59.3 15/16-12UNF 1 1/16-12UNF

BH P2.6A2-D-28 28 250 280 300 3000 500 126 60.8 15/16-12UNF 1 1/16-12UNF

BHP2.6A2-D-30 30 230 250 260 3000 500 129 62.0 15/16-12UNF 1 1/16-12UNF

BHP2.6A2-D-32 32 230 250 260 3000 400 131 63.3 15/16-12UNF 1 1/16-12UNF

BHP2.6A2-D-36 36 200 230 250 2750 400 135 65.3 15/16-12UNF 1 1/16-12UNF

BHP2.6A2-D-38 38 200 230 250 2750 400 137 66.3 15/16-12UNF 1 1/16-12UNF

BHP2.6A2-D-40 40 170 190 210 2500 400 139 67.3 15/16-12UNF 1 1/16-12UNF

BHP2.6A2-D-44 44 170 190 210 2500 400 144 69.5 15/16-12UNF 1 1/16-12UNF

60



BHP2.6A2-R

"D" and "d" ports are machined in 
compliance with threaded port with 
О-ring seal in truncated housing 

SAE J1926/1(ISO J1926-1).
To mount the pump, n.4 M12 screws, 
with a torque wrench setting fixed 
at 130...135 Nm.

OUTLET INLET 

174

Type Displacement Max pressure 

P1 | P2 P3

Max.speed Min. speed

M

Dimensions

О I
(cm r̂ev) bar bar bar (r/min) (r/min) mm

BHP2.6A2-D-6-R 6 250 280 300 4000 800 118 1 1/16-12UNF 7/8-14UNF

BHP2.6A2-D-8 -R 8 250 280 300 4000 800 120 1 1/16-12UNF 7/8-14UNF

BHP2.6A2-D-10 -R 10 250 280 300 4000 700 122 1 1/16-12UNF 7/8-14UNF

BHP2.6A2-D-12 -R 12 250 280 300 3500 700 125 1 1/16-12UNF 7/8-14UNF

BHP2.6A2-D-14 -R 14 250 280 300 3500 600 126 1 1/16-12UNF 7/8-14UNF

BHP2.6A2-D-16 -R 16 250 280 300 3500 600 129 1 1/16-12UNF 7/8-14UNF

BHP2.6A2-D-19 -R 19 250 280 300 3000 500 132 1 1/16-12UNF 7/8-14UNF

BHP2.6A2-D-22 -R 22 250 280 300 3000 500 136 1 1/16-12UNF 7/8-14UNF

BHP2.6A2-D-25 -R 25 250 280 300 3000 500 138 1 1/16-12UNF 7/8-14UNF

BHP2.6A2-D-28 -R 28 250 280 300 3000 500 141 1 1/16-12UNF 7/8—14UNF

BHP2.6A2-D-30 -R 30 230 250 260 3000 500 144 1 1/16-12UNF 7/8-14UNF

BHP2.6A2-D-32 -R 32 230 250 260 3000 400 146 1 1/16-12UNF 7/8—14UNF

BHP2.6A2-D-36 -R 36 200 230 250 2750 400 150 1 1/16-12UNF 7/8-14UNF

BHP2.6A2-D-38 -R 38 200 230 250 2750 400 152 1 1/16-12UNF 7/8-14UNF

BHP2.6A2-D—40 -R 40 170 190 210 2500 400 154 1 1/16-12UNF 7/8-14UNF

BHP2.6A2-D-44 -R 44 170 190 210 2500 400 159 1 1/16-12UNF 7/8-14UNF

61



ВНР2.6

FRONT COVER SHAFTS

106.4 13.5

47

■ 1:8 

’  4

Max.Torque 300 Nm

41.5

28

6

— 0 0

Max.Torque 180 Nm

41.5

1 25

1
-

1 [■■■ O -

I I

P
J-L 6-20x16x4

Max.Torque 240 Nm

34

1 23

r 1 1
DP16'32-30° -11T

Ш

Max.Torque 210 Nm

32

22

P !
^ 4.78

ЗШ

Max.Torque 190 Nm

1 23

-

01
9.5

EXT 12Z-1.5m-30°

MaxJorque 220 Nm

41.5

25

Л .  4-18x15x5

Max.Torque 200 Nm

39

1 23

I
^ ^ 2

5 .

DP16/32-30’ -10T

Max.Torque 200 Nm

62



ВНР2.6

FRONT COVER SHAFTS
13.5

9.5
CO

II

1
11 1 

a 24

DP16/32-30° -13T

К
' I
I

I I

H
^ 6 . 3 5

Max.Torque 400 Nm MaxJorque 350 Nm

63



ВНР2.6

PORTS

TYPE PORTS CODE INLET OUTLET

BHP2.6...6 f  BHP2.6...8 EO 30 13 M6 30 13 M6

BHP2.6...10t BHP2.6...19 El 40 20 M8 30 13 M6

BHP2.6 .22 v BHP2 6. .44 E2 51 25 M10 40 18 M8

A(a)

Z D

TYPE PORTS CODE INLET OUTLET

BHP2.5...6 ■=■ BHP2.6...16 F0 47.6 22.2 M10X1.5 20 47.6 22.2 Ml 0x15 13

BHP2.6...19 т BHP2.6...44 FI 52.4 26.2 MIOxl.5 25 47.6 22.2 Ml 0x1.5 20

TYPE INLET OUTLET

A В С а b с

BHP2.6...6+BHP2.6...16 55 20 M8 55 13 М8

BHP2.6...19 т BHP2.6...44 55 25 M8 55 20 М8

i

TYPE PORTS CODE INLET OUTLET

A a

ВНР2.6...6тВНР2.6...14 ZO M22X1.5 Ml 8x1.5

ВНР2.6...16 + ВНР2.6...19 Z1 M27x2 M22x1.5

ВНР2.6...22тВНР2.6...44 Z2 M33x2 M27x2

64



ВНР2.6

PORTS

TYPE PORTS CODE INLET OUTLET

A a

BHP2.6...6t BHP2.6...22 UO 11/16-12 UNF 7Й-14 UNF

BHP2.6...25t BHP2.6...44 U1 15/16-12 UNF 11/16-12 UNF

TYPE PORTS CODE INLET OUTLET

3HP2.6...6t BHP2.6...22 LO G3/4 m
ВНР2.6...25 т BHP2.6...44 LI G 1 G3'4

H I

TYPE PORTS CODE INLET OUTLET

A a

BHP2.6...10t BHP2.6...22 RO PTJ'4 PT1/2

BHP2.6...25t BHP2.6...44 R1 PT1 PT3/4

65



BDP2.5

Ш Г №  HOW ТО ORDER

BD P 2.5 Front cover Rotation

1

Size Г Shaft Ports Ports position Seals Options
I _1 1 1 I 1

Series
P- Pump

Group AO D Clockwise

S Counter
clockwise

R Reversible

40

Ports position____________
Omit-Side inlet and side outlet 

А-Front inlet and front outlet 
B-Back inlet and front outlet 
С-Back inlet and side outlet 
D-Side inlet and front outlet 
R-Back inlet and back outlet

Seals_______________________________________________________
Omit-Range between -10'C and +80'C,inlet pressure up to max. 3 bar absolute. 
V-Version suitable for fluid at hi-temperatures, range between -10'C and +120C. 
H-Version suitable for fluid at low-temperatures, range between -40'C and +80'C. 
T-Version suitable for inlet pressure up to max. 3 and 6 bar absolute.
N-Version suitable for inlet pressure up to max. 3 and 10 bar absolute.

Examples:_______________________________________________________________________________________________________
BDP2.5-AO-D-23-CO-ZO-R = clockwise rotation, 23 cc'rev, AO front cover, CO parallel shaft, setting ports Z0 type, Ports position (R),standard seals

BDP2.5-A0-D-23-H1-L0-R = clockwise rotation, 23 cdrev, AO front cover, H1 rectangle splined stiaft, setting ports LO type, Ports position (R),standard seals

BDP2.5-A0-D-23-S3-F0-N = clockwise rotation, 23 cctev, AO front cover, SAE В splined 13T shaft(S3), setting ports FO type, high pressure seals(N)

66



BDP2.5A0-R

G 1 thread depth 21,
G 1/2 thread depth 16,
To mount the pump, n.4 M12 screws, 
with a torque wrench setting fixed 
at 75...80 Nm.

Type Displacement Max pressure 

P1 | P2 I P3

Max. speed Min. speed

M

Dimensions

I D «
(cm^rev) bar bar bar (r/min) mm

BDP2.5A0-D-23-R 23 230 250 260 3500 600 118 G1 G 1/2

BDP2.5A0-D-25-R 25 230 250 260 3500 600 120 G1 G 1/2

BDP2.5A0-D-26.5-R 26.5 230 250 260 3500 600 122 G1 G 1/2

BDP2.5A0-D-28-R 28 230 250 260 3500 600 124 G1 G 1/2

BDP2.5A0-D-3O-R 30 230 250 260 3000 600 126 G1 G 1/2

BDP2.5A0-D-32-R 32 200 230 250 3000 600 129 G1 G 1/2

BDP2.5A0-D-36-R 36 200 230 250 2750 500 133 G1 G 1/2

BDP2.5A0-D-4O-R 40 160 180 200 2500 500 138 G1 G 1/2

67



BDP2.5A0

М10x1.25 thread depth 15,
To mount the pump, n.4 M12 screws, 
with a torque wrench setting fixed 
at 75...80 Nm.

OUTLET INLET

Type Displacement Max pressure 

P1 | P2 I P3

Max. speed Min. speed

M

Dimensions 

I L | D 1
(cnrVrev) bar bar bar (r/min) mm mm mm mm

BDP2.5A0-D-23 23 230 250 260 3500 600 118 60.5 25 20

BDP2.5A0-D-25 25 230 250 260 3500 600 120 61.8 25 20

BDP2.5AO-D-26.5 26.5 230 250 260 3500 600 122 62.8 25 20

BDP2.5A0-D-28 28 230 250 260 3500 600 124 63.8 25 20

BDP2.5A0-D-30 30 230 250 260 3000 600 126 64.8 25 20

BDP2.5A0-D-32 32 200 230 250 3000 600 129 66.3 25 20

BDP2.5A0-D-36 36 200 230 250 2750 500 133 68.3 25 20

BDP2.5A0-D-40 40 160 180 200 2500 500 138 70.8 28 20

68



BDP2.5

FRONT COVER SHAFTS
12.5

106.4 6.5

a

41.5

Г 25
г

со ю
г ts>. &

41.5
25

J T  4-18x15x5

41.5

25

П  6-20x16x4
АО СО _____________н о ^ ^ И Н1

Max.Torque
180 Nm

п 21
11
1
I -

EXT12Z-1.5m-30°

Max.Torque
200 Nm

Max.Torque
240 Nm

Max.Torque 220 Nm Max.Torque 200 Nm

32

DP16/32-30° -11T

Max.Torque 210 Nm Max.Torque 300 Nm

69



BDP2.5

PORTS

г-Ф  j <t>

-GET
' - й >  \ <

m

TYPE INLET OUTLET

A В С D a b С d

BDP2.5...23 т BDP2.5...36 52.4 26.2 Ml 0x1.25 25 47.6 22.2 M10X1.25 20

8DP2.5...40 52.4 26.2 М Ш .25 28 47.6

O
J

CNJ M10X1.25 20



ВНРЗ[ВНМЗ]

HOW ТО ORDER

BH p 3 Front cover Rotation Size Shaft Ports Ports position Seals Options

Series
P- Pump

Group BO D Clockwise
20
22

M- Motor B1 S Counter
clockwise

26
33

AO
39

R Reversible
46

At
50
52
55
63
71

Options

Drain

00- internal drain 
Q1 - external drain G38 
Q2- external drain 3/4-16 UNF 
Q3- external drain G1/4 

04- external drain 9/16-18 UNF

Ports position____________
Omit-Skle inlet and side outlet 

А-Front inlet and front outlet 
B-Back inlet and front outlet 
С-Back inlet and side ootlet 
D-Side inlet and front outlet 
R-Back inlet and back outlet

Seals_______________________________________________________
Omit-Range between -10'C and +80'C,inlet pressure up to max. 3 bar absolute. 
V-Version suitable for fluid at hi-temperatures, range between -10'Cand +120'C. 
H-Version suitable for fluid at low-temperatures, range between -40'C and +80C. 
Т-Version suitable for inlet pressure up to max. 3 and 6 bar absolute.
N-Version suitable for inlet pressure up to max. 3 and 10 bar absolute.

Examples:______________________________________________________________________________________
BHP3-B0-D-20-C0-F0 = clockwise rotation, 20 cc/rev, BO front cover, CO parallel shaft, setting ports FO type, standard seals

BHP3-B1-D-20-T0-E0 = clockwise rotation, 20 cc/rev, B1 front cover, 1:8 tapered shaftfTO), setting ports EO type, standard seals

BHP3-A0-D-20-C2-F4-N= clockwise rotation, 20 cc/rev, AO front cover, C2 parallel shaft, setting ports F4 type, high pressure seals(N)

71



ВНРЗВО

М10 thread depth 18.
M8 thread depth 16.
To mount the pump, n.8 M10 screws, 
with a torque wrench setting fixed 
at47±3Nm.

OUTLET INLET

щ -

36

' K - 1 -

D

В

s s
I S

Type Displacement Max pressure 

P1 | P2 | P3

Max. speed Min. speed

M I L I н

Dimensions 

[ В | D | С b I ч с
(cirf/rev) bar bar bar (r/min) (r/min) mm mm mm mm mm mm mm

BHP3BC-D-20 20 250 265 280 3500 600 128 63 48 50 20 M8 50 16.5 M8

BHP380-D-22 22 250 265 280 3500 600 130 64 48 50 20 M8 50 16.5 M8

BHP3B0-D-26 26 250 265 280 3000 600 133 65 48 50 20 M8 50 20 M8

BHP380-D-33 33 230 250 270 3000 500 139 68 48 65 25 M8 65 20 M8

BHP380-D-39 39 230 250 270 3000 500 146 72 48 65 25 M8 65 20 M8

BHP3BO-D-46 46 230 250 270 3000 500 152 75 48 65 25 M8 65 20 M8

BHP3B0-D-50 50 220 240 260 3000 500 156 77 51 76 33 M10 76 25 M10

BHP3BO-D-52 52 220 240 260 3000 500 158 78 51 76 33 M10 76 25 M10

BHP3B0-D-55 55 200 230 250 2800 400 160 79 51 76 33 M10 76 25 M10

BHP3B0-D-63 63 200 230 250 2800 400 168 83 51 76 33 M10 76 25 M10

BHP3B0-D-71 71 180 200 220 2500 400 175 86 51 76 33 M10 76 25 M10

72



ВНРЗВ1

М10 thread depth 18,
To mount the pump, n.8 M10 screws, 
with a torque wrench setting fixed 
at47±3Nm.
Shaft M14x1.5 nut, with a torque 
wrench setting fixed at 80 Nm.

OUTLET INLET

Type Displacement Max pressure 

P1 | P2 | P3

Max. speed Min. speed

M I L

Dimensions 

В | D b
(arflrev) bar bar bar (r/min) mm mm mm mm mm mm

BHP3B1-D-20 20 250 265 280 3500 600 128 63 56 27 56 19

BHP3B1-D-22 22 250 265 280 3500 600 130 64 56 27 56 19

BHP3B1-D-26 26 250 265 280 3000 600 133 65 56 27 56 19

BHP3B1-D-33 33 230 250 270 3000 500 139 68 56 27 56 19

BHP3B1-D-39 39 230 250 270 3000 500 146 72 56 27 56 19

BHP3B1-D46 46 230 250 270 3000 500 152 75 51 27 51 27

BHP3B1-D-50 50 220 240 260 3000 500 156 77 56 27 56 27

BHP3B1-D-52 52 220 240 260 3000 500 158 78 56 27 56 27

BHP3B1-D-55 55 200 230 250 2800 400 160 79 62 33 51 27

BHP3B1-D-63 63 200 230 250 2800 400 168 83 62 33 51 27

BHP3B1-D-71 71 180 200 220 2500 400 175 86 62 33 51 27

73



ВНРЗАО

3/8-16 UNC thread depth 19. 
7/16-14 UNC thread depth 19.
To mount the pump, n.8 M10 screws, 
with a torque wrench setting fixed 
at47±3Nm.

OUTLET INLET

Type Displacement Max pressure 

PI | P2 I ra

Max.speed Min. speed

M L A

Dimensions 

I В | С | D a I ь
(cntfrev) bar bar bar (r/min) mm mm mm mm UNC mm mm mm mm

BHP3A0-D-20 20 250 265 280 3500 600 128 63 52.4 26.2 3/8 27 47.6 22.2 19

BHP3A0-D-22 22 250 265 280 3500 600 130 64 52.4 26.2 3/8 27 47.6 22.2 19

BHP3A0-D-26 26 250 265 280 3000 600 133 65 52.4 26.2 3/8 27 47.6 22.2 19

BHP3A0-D-33 33 230 250 270 3000 500 139 68 52.4 26.2 3/8 27 47.6 22.2 19

BHP3A0-D-39 39 230 250 270 3000 500 146 72 52.4 26.2 3/8 27 47.6 22.2 19

BHP3A0-D-46 46 230 250 270 3000 500 152 75 52.4 26.2 3/8 27 47.6 22.2 19

BHP3A0-D-50 50 220 240 260 3000 500 156 77 52.4 26.2 3/8 27 47.6 22.2 19

BHP3A0-D-52 52 220 240 260 3000 500 158 78 52.4 26.2 3/8 27 47.6 22.2 19

BHP3A0-D-55 55 200 230 250 2800 400 160 79 58.7 30.2 7/16 33 52.4 26.2 27

BHP3A0-D-63 63 200 230 250 2800 400 168 83 58.7 30.2 7/16 33 52.4 26.2 27

BHP3A0-D-71 71 180 200 220 2500 400 175 86 58.7 30.2 7/16 33 52.4 26.2 27

74



ВНРЗА1

М10 thread depth 19.
To mount the pump, n.8 M10 screws, 
with a torque wrench setting fixed 
at47±3Nm.

OUTLET INLET

Type Displacement Max pressure 

P1 | P2 | P3

Max. speed Min. speed Dimensions 

M | L | D | d
(cnftev) bar bar bar (r/min) (r/min) mm mm mm mm

BHP3A1-D-20 20 250 265 280 3500 600 128 63 25 20

BHP3A1-D-25 25 250 265 280 3000 600 133 65 25 20

BHP3A1-0-32 32 230 250 270 3000 500 139 68 30 20

BHP3A1-D-40 40 230 250 270 3000 500 146 72 35 20

BHP3A1-D-50 50 220 240 260 3000 500 156 77 35 25

BHP3A1-D-63 63 200 230 250 2800 400 168 83 35 25

75



ВНМЗВ1

л М10 thread depth 18,
To mount the pump, n.8 M10 screws, 
with a torque wrench setting fixed 
at47±3Nm.
Shaft M14x1.5 nut,with a torque 
wrench setting fixed at 80 Nm.

OUTLET INLET

Pp= max peak input pressure
Pc= max pressure continually as output counterpressure
p i = max peak input pressure continually

Type Displacement Max pressure 

Pi | Pc Pp

Max. speed Min. speed

"

Dimensions 

1 L | В 3
(crrA'rev) bar bar bar (ifmin) (r/min) mm mm mm mm

BHM3B1-R-20 20 280 265 290 3500 600 128 63 56 27

BHM3B1-R-22 22 280 265 290 3500 600 130 64 56 27

BHM3B1-R-26 26 280 265 290 3000 600 133 65 56 27

BHM3B1-R-33 33 270 250 280 3000 500 139 68 56 27

BHM3B1-R-39 39 270 250 280 3000 500 146 72 56 27

BHH3B1-R-46 46 270 250 280 3000 500 152 75 51 27

BHM3B1-R-50 50 260 240 270 3000 500 156 77 56 27

BHM3B1-R-52 52 260 240 270 3000 500 158 78 56 27

BHM3B1-R-55 55 250 230 260 2800 400 160 79 62 33

BHM3B1-R-63 63 250 230 260 2800 400 168 83 62 33

BHM3B1-R-71 71 220 200 230 2500 400 175 86 62 33

76



ВНРЗ

FRONT COVER SHAFTS

IT 36 i I 36 11 -  ■
1 1 ------------------
11

- H --------------------
1 1

ЮCVJ
* *

1 ! ' ---------я
T 1 !

u ”>CVJ O J

1 1 
1 1 
1 1 
1 I
иг

i I i i i i i i и 1

8 oo

Max.Torque 450 Nm Max.Torque 450 Nm

48
11 
1 l 35
i I 
i l
1 Г to

1 l.
ca

П  
I 1 as
i 1 
i 1 
i L .
1 г t o

i I 
i i 
i i 
i i

n 6-25x20.1x6 Л  6-25x20.1x6

Max.Torque 500 Nm Max.Torque 500 Nm

46
1— ------------------—
I
n  
1 1 
1 1 
1 l

1 j 

'  !

i :  ^  Ю  
CVJ

J - - *  l a .
o dCM

6.35

Max.Torque 400 Nm Max.Torque 450 Nm

DP16/32-30" -13T DP1682-308 -15T

Max.Torque 500 Nm MaxTorque 600 Nm

77



ВНРЗ

FRONT COVER SHAFTS
98.5

1:8

^  4

MaxJorque 300 Nm

■ & -1 :5  
^  5

Max.Torque 350 Nm

MaxJorque 350 Nm

J 1  6-25x21x5

Max.Torque 450 Nm Max.Torque 500 Nm

78



ВНРЗ

PORTS

TYPE PORTS CODE INLET OUTLET

A В С а b С

ВНР3..20 т ВНР3...26 FO 50 20 M8 50 20 М8

ВНРЗ...ЗЗ т ВНР3...46 F1 65 25 M8 65 20 М8
ВНР3...50 г  ВНР3...71 F2 76 33 М10 76 25 МЮ
ВНР3...50 т ВНР3...63 F3 76 33 М8 76 25 М8

В(Ь)

TYPE PORTS CODE INLET OUTLET

A В С D a b С d

ВНР3..20 т ВНР3...52 F4 52.4 26.2 3/8-16UNC 27 47.6 22.2 а я - м с 19

ВНР3...55 f  ВНР3...71 F5 58.7 30.2 7/16-14UNC 33 52.4 26.2 aM U N C 27

А(а)

О

r i
D(d) \n.4C(c)

F7

TYPE INLET OUTLET

A В С D a b с d

BHP3..50 т BHP3...25 57.2 26 мю 25 57.2 26 МЮ 20

BHP3...32 57.2 26 мю 30 57.2 26 МЮ 20

BHP3...40 57.2 26 мю 35 57.2 26 МЮ 20

BHP3...50 f  BHP3...63 57.2 26 мю 35 57.2 26 МЮ 25

79



ВНРЗ

PORTS

TYPE PORTS CODE INLET OUTLET

A В С a b С

BHP3...20 т BHP3...39 EO 56 27 M10 56 19 M10

BHP3...46 El 51 27 M10 51 27 M10

BHP3...50 4 ВНР3..52 E2 56 27 мю 56 27 M10

ВНР3...55 4 ВНР3...71 E3 62 33 мю 51 27 M10

TYPE PORTS CODE INLET OUTLET

BHP3...20 4 BHP2...22 LO G3/4 G3/4

BHP3..26 v BHP2...39 L1 G1 G3/4

BHP3...46 4 BHP2...63 L2 G11/4 G 1

BHP3...71 L3 G11/2 G11/4

R0/R1/R2/R3

TYPE PORTS CODE INLET OUTLET

BHP3...20 4 BHP2...22 RO PT3/4 PT3/4

BHP3...26 4 BHP2...39 R1 PT1 PT3/4

BHP3...46 4 BHP2...63 R2 PT11/4 PT 1

BHP3...71 R3 PT11/2 PT11/4

U0/U1/U2

TYPE PORTS CODE INLET OUTLET

BHP3...20 4 BHP3...33 UO 1 5/16-12UNF 1 1/16-12UNF

BHP3...39 4 BHP3...52 U1 1 5/8-12UNF 1 1/16-12UNF

BHP3...55 4 BHP3...71 U2 1 7/8-12UNF 15/16-12UNF

80



ВАР3.5

HOW TO ORDER

BA P 3.5 Front cover Rotation Size Shaft Ports Ports position Seals Options

P- Pump
Series Group Q0 D Clockwise

40
50

Q1 S Counter
clockwise

63
71

A0
80

R Reversible
90

A1
100

Ports position____________
Omit-Side inlet and side outlet 

А-Front inlet and front outlet 
B-Back inlet and front outlet 
С-Back inlet and side outlet 
D-Side inlet and front outlet 
R-Back inlet and back outlet

Seals_______________________________________________________
Omit-Range between -10'C and +801,inlet pressure up to max. 3 bar absolute. 
V-Version suitable for fluid at hi-temperatures, range between -10'C and +120'C. 
H-Version suitable for fluid at low-temperatures, range between -400 and +801C. 
Т-Version suitable for inlet pressure up to max. 3 and 6 bar absolute.
N-Version suitable fa  inlet pressure up to max. 3 and 10 bar absolute.

Examples:___________________________________________________________________________________
BAP3.5-Q0-D-40-C0-F0 = clockwise rotation, 40 cc/rev, Q0 front cover, CO parallel shaft, setting ports F0 type, standard seals

BAP3.5-Q1-D-40-S3-F2 = clockwise rotation, 40 cc/rev, Q1 front cover, splined shaft 14T(S3), setting ports F2 type, standard seals

BAP3.5-A0-D-50-C1-F5 = clockwise rotation, 50 cc/rev, A0 front cover, C1 parallel shaft, setting ports F5 type, standard seals

81



BAP3.5Q0

М8 thread depth 16.
M10 thread depth 20.
M12 thread depth 20.
To mount the pump, n.8 M14 screws, 
with a torque wrench setting fixed 
at 185±5 Nm.

Type Displacement

PI

Max pressure 

| P2 | P3

Max. speed Min. speed

M I L I A в

Dimensions 

С | D a b I 0
(cnrVrev) bar bar bar (r/min) (r/min) mm mm mm mm mm mm mm mm

BAP3.5Q0-D-40 40 250 265 280 2750 600 189 108 48 22 M8 20 48 22 M8 20

BAP3.500-D-50 50 250 265 280 2750 600 195 111 52 26 M10 25 48 22 M8 20

BAP3.5Q0-D-63 63 250 265 280 2750 500 203 115 60 30 M10 32 52 26 M10 25

BAP3.5QO-D-71 71 230 250 270 2500 500 208 117 70 36 M12 35 60 30 M10 32

BAP3.5Q0-D-80 80 230 250 270 2500 500 213 120 70 36 M12 35 60 30 M10 32

BAP3.5Q0-D-90 90 200 230 250 2500 500 219 123 70 36 M12 40 60 30 M10 32

BAP3.5QO-D-MO 100 200 230 250 2500 500 225 126 70 36 M12 40 60 30 M10 32

82



BAP3.5Q1

М8 thread depth 16.
M12 thread depth 20.
To mount the pump, n.8 M14 screws, 
with a torque wrench setting fixed 
at 185+5 Nm.

OUTLET INLET

Type Displacement

P1

Max pressure 

| P2 | P3

Max. speed Min. speed

M I L 1 A 1 в

Dimensions 

С | D I a b I * 1
(cnftev) bar bar bar mm mm mm mm mm mm mm mm

BAP3.5Q1-D-40 40 250 265 280 2750 600 189 108 60 30 M10 32 52 26 M10 25

BAP3.5Q1-D-50 50 250 265 280 2750 600 195 111 60 30 M10 32 52 26 M10 25

BAP3.5Q1-D-63 63 250 265 280 2750 500 203 115 60 30 M10 32 52 26 M10 25

8AP3.5Q1-D-71 71 230 250 270 2500 500 208 117 70 36 M12 35 60 30 M10 32

BAP3.5Q1-D-80 80 230 250 270 2500 500 213 120 70 36 M12 35 60 30 M10 32

BAP3.5Q1-D-90 90 200 230 250 2500 500 219 123 70 36 M12 40 60 30 M10 32

BAP3.5Q1-D-100 100 200 230 250 2500 500 225 126 70 36 M12 40 60 30 M10 32

83



ВАР3.5А0[ВАР3.5А1]

М8 thread depth 16.
M12 thread depth 20.
To mount the pump, n.8 M14 screws, 
with a torque wrench setting fixed 
at 145±5 Nm.

OUTLET INLET

58

40

S 3

¥

Type Displacement Max pressure 

P1 | P2 | P3

Max.speed Min. speed

M l L U L L J L A J L A I L A I

Dimensions 

A | В L A I L A J L a L l A L A
(cm^rev) bar bar bar (r/min) mm mm mm mm mm mm mm mm mm mm mm mm

BAP3.5AO-D-50 50 250 265 280 2750 600 171 87 80 8 160 200 60 30 M10 32 52 26 M8 25

BAP3.5AO-D-63 63 250 265 280 2750 500 179 91 80 8 160 200 60 30 M10 32 52 26 M8 25

BAP3.5A0-D-71 71 230 250 270 2500 500 184 93 80 8 160 200 60 36 M10 35 60 36 M10 28

BAP3.5A0-D-80 80 230 250 270 2500 500 189 96 80 8 160 200 60 36 M10 35 60 36 M10 28

BAP3.5A0-D-90 90 200 230 250 2500 500 195 99 80 8 160 200 60 36 M10 40 60 36 M10 32

BAP3.5A1-D-100 100 200 230 250 2500 500 201 102 127 6.3 180 215 60 36 M10 40 60 36 M10 32

84



11
4.5

ВАР3.5

FRONT COVER SHAFTS

xSx Ш 7 Л .  6-30x25.3x8

Max.Torque 600 Nm Max.Torque 720 Nm

Г  1 1 1 1 1 1

30

1 1
Г г

S3ta.

62

h" 42

! !

--- .  P iis».

!!

m 2-30 ' -14T m2-30’  -15T

Ш 7

Max.Torque

56

40

900 Nm Max.Torque 980 Nm

г  
1 1 
1 1 
1 1

j 5-

1 1

r t -
CM
CO

П  6-32x28x7

Max.Torque 650 Nm Max.Torque 800 Nm

56

R 37
1 1 
1 1
1 1

r t -----------

I 1 1 1 
l 1
1 1
r ' га

H

DP12/24-30c -14T DP16/32-305 -15T

Max.Torque
920 Nm

Max.Torque 600 Nm

W

85



ВАР3.5

FRONT COVER SHAFTS
58

I—1 40 hi 40

! |
ii

i f
&

i
+i --- ! sta.

i i 8
111

Л  6-28x23x6

58
40

Ш2-300 -14T

Max.Torque 600 Nm

58
i ' i 40

is
i i CO

iii ■ea.

Max.Torque 600 Nm

58
40

Л  6-28x23x6

Max.Torque 900 Nm

58
40

m2-30° -14T

Max.Torque 600 Nm MaxJorque 600 Nm Max.Torque 900 Nm

86



ВАР3.5

PORTS

F0/F1/F2/F3/F4

TYPE PORTS CODE INLET OUTLET

A В С D a b

BAP3.5...40 FO 48 22 № 20 48 22 M8 20

BAP3.5...50 F1 52 26 M10 25 46 22 M8 20

BAP3.5...40 т BAP3.5...63 F2 60 30 МЮ 32 52 26 M10 25

BAP3.5...71 f  BAP3.5...80 F3 70 36 M12 35 60 30 M10 32

BAP3.5...90 т BAP3.5...100 F4 70 36 M12 40 60 30 МЧ0 32

- 4 >  <Sj>
\

S '
Q ( )

-\n.4C(c)

U j r u t-

B(b)

F5/F6

TYPE PORTS CODE INLET OUTLET

A В С D a b D  E l

BAP3.5...50 т  BAP3.5...63 F5 60 30 м ю 32 52 26 M8 25

BAP3.5...71 f  BAP3.5...80
F6

60 36 м ю 35 60 36 M10 28

BAP3.5...90 г  BAP3.5...100 60 36 м ю 40 60 36 M10 32

87



MULTIPLE PUMPS

HOW TO ORDER

BH

Series

p 21212 - Front cover Rotation
I I I  I

P- Pump
Group AO D Clockwise

80 S Counter
clockwise

B1
R Reversible

82

00

Q1

02

- 16/16/6 Shaft Ports Ports position Seals Options

20

25
28
30

MULTIPLE PUMPS COMBINATION

Reduced inlets provide overall systems savings by re­
ducing the cost ot redundant inlet hose and fittings.

For other combinations please consult our sales de­
partment

Seals_______________________________________________________
Omit-Range between -10'C and +80'C,inlet pressure up to max. 3 bar absolute. 
V-Version suitable for fluid at hi-temperatures, range between -10C and +120C. 
H-Version suitable for fluid at low-temperatures, range between -40'C and +80 C. 
Т-Version suitable for inlet pressure up to max. 3 and 6 bar absolute.
N-Version suitable for inlet pressure up to max. 3 and 10 bar absolute.

Examples:___________________________________________________________________________________________
BHP2/2/2-B0-CM6/16'6-T0-E0 = clockwise rotation, group 2, front pump 16 cc/rev, middle pump 16 cc/rev, rear pump 6 cc/rev, BO front cover, 

1:8 tapered shaftfTO), setting ports EO type, standard seals

BHP2/2-B0-D-16f16-T0-E0= clockwise rotation, group 2, front pump 16 cc/rev, rear pump 16 cc/rev, BO front cover,
1:8 tapered shaftfTO), setting ports EO type, standard seals

BAP2/2-AO-D-2V16-CO-UO = clockwise rotation, group 2, front pump 25 cc/rev, rear pump 16 cc/rev, AO front cover, CO parallel stiaft, 
setting ports UO type, standard seals

88



HOW TO ORDER

Ports position

Omit-Side inlet and side outlet 
B-Back inlet and front outlet 
С-Back inlet and side outlet 
D-Sde inlet and front outlet 
R-Back inlet and back outlet

Standard version

E-two inlet and two outlet(separated type) 
F-two inlet and two outlet(common type) 
G-one inlet and two outlet 
J-one inlet and three outlet 
К-two inlet and three outlet

♦  ♦

!

- -  — —  —

1
♦ ,

г

У У

0

-
4

*

89



ВКР0.5/0.5
ВКР0.5/0.5-Е

ВКР0.5

Displacement Max pressure 

P1 | P2 | P3

Max. speed Min. speed Dimensions

A
(cm fe) bar bar bar (r/min) (r/min) mm

0.19 200 230 250 7000 1000 14.8

0.26 200 230 250 7000 1000 15

0.38 200 230 250 7000 1000 15.5

0.50 200 230 250 7000 1000 16

0.65 200 230 250 7000 1000 16.5

0.75 200 230 250 7000 1000 17

0.88 200 230 250 7000 1000 17.5

1.00 200 230 250 6000 850 18

1.25 200 230 250 5000 700 19

1.50 200 230 250 4000 600 20

1.75 180 210 230 4000 600 21

2.00 160 190 210 3000 500 22

90



ВНР1/1 ВКР1/1

BHP1/1-F

- В

20 А А 8 А А 18.5

- I

ВНР1/1-Е

91



ВНР1/1 ВКР1/1
ВНР1

Displacement Max pressure 

P1 | P2 P3

Max. speed Min. speed Dimensions
A

(cnftev) bar bar bar (r/min) (r/min) mm

1.4 250 270 290 6000 800 22

2.1 250 270 290 6000 800 23

2.8 250 270 290 5000 800 24

3.5 250 270 290 5000 800 25

4.1 250 270 290 4000 800 26

5.2 230 245 260 4000 800 27.5

6.2 230 245 260 3500 800 29

7.6 200 215 230 3000 600 31

9.3 180 195 210 2500 600 33.5

11.0 170 185 200 2500 600 36

13.8 150 165 180 2000 600 40

ВКР1

Displacement Max pressure 

P1 I P2 |I P3

Max.speed Min. speed Dimensions
В

(cnftev) bar bar bar (r/min) (r/min) mm

0.8 230 250 270 6000 1000 17.8

1.1 230 250 270 6000 1000 18

1.3 230 250 270 6000 1000 18.5

1.6 230 250 270 6000 1000 19

1.8 230 250 270 6000 1000 19.5

2.1 230 250 270 6000 1000 20

2.7 230 250 270 6000 800 21

3.2 210 230 250 5000 800 22

3.7 210 230 250 4500 800 23

4.2 210 230 250 4000 800 24

4.8 190 210 230 3500 600 25

5.8 190 210 230 3000 600 27

7.0 160 180 200 2500 600 29

8.0 160 180 200 2100 600 31

92



ВНР2/2/2 ВНР2/2 ВНР2/1 ВНР2/0.5

ВНР2/2-Е

BHP2/2/2-Ea BHP2/2/2-Fb

93



ВНР2/2/2 ВНР2/2 ВНР2/1 ВНР2/0.5

BHP2/BAP1-F
19 , А А 38 , С С ,18.5

ВНР2/ВКР1-ЕЬ
19 А А

ВНР2/0.5-Е
19 А А 38 12.5

ВНР2/ВКР1-ЕС
19 А А 17

94



ВНР2/2/2 ВНР2/2 ВНР2/1 ВНР2/0.5

ВНР2

Displacement

PI

Max pressure

P2 P3

Max. speed Mm. speed Dimensions

A
(cntf'rev) bar bar bar (r/min) (r/min) mm

3 270 285 300 4000 800 24.5

4 270 285 300 4000 600 25.3

6 270 285 300 4000 600 27

8 270 285 300 3500 500 28.6

10 270 285 300 3000 500 30.3

12 270 285 300 3000 500 32

14 250 265 280 4000 500 33.6

16 250 265 280 4000 500 35.3

18 250 265 280 3600 400 37

20 220 235 250 3200 400 38.6

22 220 235 250 3000 400 40.3

25 200 215 230 3000 400 42.8

28 180 190 200 2500 400 45.3

30 160 170 180 2500 400 47

ВКР0.5

Displacement Max pressure 

P1 | P2 P3

Max. speed Min. speed Dimensions

В
(cntfrev) bar bar bar (r/min) mm

0.19 200 230 250 7000 1000 14.8

0.26 200 230 250 7000 1000 15

0.38 200 230 250 7000 1000 15.5

0.50 200 230 250 7000 1000 16

0.65 200 230 250 7000 1000 16.5

0.75 200 230 250 7000 1000 17

0.88 200 230 250 7000 1000 17.5

1.00 200 230 250 6000 850 18

1.25 200 230 250 5000 700 19

1.50 200 230 250 4000 600 20

1.75 180 210 230 4000 600 21

2.00 160 190 210 3000 500 22

95



ВНР2/2/2 ВНР2/2 ВНР2/1 ВНР2/0.5
ВАР1

Displacement Max pressure 

PI | P2 P3

Max. speed Min. speed Dimensions

С
(cirf/rev) bar bar bar (r/min) (r/min) mm

1.4 250 270 290 6000 800 22

2.1 250 270 290 6000 800 23

2.8 250 270 290 5000 800 24

3.5 250 270 290 5000 800 25

4.1 250 270 290 4000 800 26

5.2 230 245 260 4000 800 27.5

6.2 230 245 260 3500 800 29

7.6 200 215 230 3000 600 31

9.3 180 195 210 2500 600 33.5

11.0 170 185 200 2500 600 36

13.8 150 165 180 2000 600 40

ВКР1

Displacement Max pressure 

P1 | P2 I P3

Max. speed Min. speed Dimensions

D
(arf/rev) bar bar bar (r/min) mm

0.8 230 250 270 6000 1000 17.8

1.1 230 250 270 6000 1000 18

1.3 230 250 270 6000 1000 18.5

1.6 230 250 270 6000 1000 19

1.8 230 250 270 6000 1000 19.5

2.1 230 250 270 6000 1000 20

2.7 230 250 270 6000 800 21

3.2 210 230 250 5000 800 22

3.7 210 230 250 4500 800 23

4.2 210 230 250 4000 800 24

4.8 190 210 230 3500 600 25

5.8 190 210 230 3000 600 27

7.0 160 180 200 2500 600 29

8.0 160 180 200 2100 600 31

96



19
.07

5

ВНР2.6/2.6

BHP2.6/2.6-F

ВНР2.6

Displacement Max pressure 

PI | P2 I P3

Max. speed Min. speed Dimensions
A

(cm?rev) bar bar bar (r/min) (r/min) mm

6 250 280 300 4000 800 28.3

8 250 280 300 4000 800 29.3

10 250 280 300 4000 700 30.3

12 250 280 300 3500 700 31.5

14 250 280 300 3500 600 32.3

16 250 280 300 3500 600 33.5

19 250 280 300 3000 500 35.3

22 250 280 300 3000 500 37

25 250 280 300 3000 500 38.3

28 250 280 300 3000 500 39.8

30 230 250 260 3000 500 41

32 230 250 260 3000 400 42.3

36 200 230 250 2750 400 44.3

38 200 230 250 2750 400 45.3

40 170 190 210 2500 400 46.3

44 170 190 210 2500 400 48.5

97



ВНРЗ/З ВНРЗ/2 ВНРЗ/1 ВНРЗ/0.5
ВНРЗ/З-Е BHP3/3-F

22 А А 44 А А 25.5 174

BHP3/3-G

ВНРЗ/2-Е BHP3/2-F

98



ВНРЗ/З ВНРЗ/2 ВНРЗ/1 ВНРЗ/0.5

ВНРЗ/1-Eb

ВНРЗ/0.5-Еа

99



ВНРЗ/З ВНРЗ/2 ВНРЗ/1 ВНРЗ/0.5
ВНРЗ

Displacement Max pressure 

Р1 | P2 P3

Max. speed Min. speed Dimensions
A

(critfrev) bar bar bar (r/min) (r/min) mm

20 250 265 280 3500 600 40.5

22 250 265 280 3500 600 41.5

26 250 265 280 3000 600 43

33 230 250 270 3000 500 46

39 230 250 270 3000 500 49.5

46 230 250 270 3000 500 52.5

50 220 240 260 3000 500 54.5

52 220 240 260 3000 500 55.5

55 200 230 250 2800 400 56.5

63 200 230 250 2800 400 60.5

71 180 200 220 2500 400 64

ВНР2

Displacement Max pressure 

1 P2 1 P3

Max. speed Min. speed Dimensions

В
(cmftev) bar bar bar mm

3 270 285 300 4000 800 24.5

4 270 285 300 4000 600 25.3

6 270 285 300 4000 600 27

8 270 285 300 3500 500 28.6

10 270 285 300 3000 500 30.3

12 270 285 300 3000 500 32

14 250 265 280 4000 500 33.6

16 250 265 280 4000 500 35.3

18 250 265 280 3600 400 37

20 220 235 250 3200 400 38.6

22 220 235 250 3000 400 40.3

25 200 215 230 3000 400 42.8

28 180 190 200 2500 400 45.3

30 160 170 180 2500 400 47

100



ВНРЗ/З ВНРЗ/2 ВНРЗ/1 ВНРЗ/0.5

ВКР1

Displacement Мах pressure 

Р1 I Р2 РЗ

Max.speed Min. speed Dimensions

С
(citf/rev) bar bar bar (r/min) (r/min) mm

0.8 230 250 270 6000 1000 17.8

1.1 230 250 270 6000 1000 18

1.3 230 250 270 6000 1000 18.5

1.6 230 250 270 6000 1000 19

1.8 230 250 270 6000 1000 19.5

2.1 230 250 270 6000 1000 20

2.7 230 250 270 6000 800 21

3 2 210 230 250 5000 800 22

3.7 210 230 250 4500 800 23

4 2 210 230 250 4000 800 24

4.8 190 210 3 3500 600 25

5.8 190 210 230 3000 600 27

7.0 160 180 200 2500 600 29

8.0 160 180 200 2100 600 31

ВКР0.5

Displacement Max pressure 

P1 | P2 P3

Max. speed Min. speed Dimensions

D
(crf/rev) bar bar bar mm

0.19 200 230 250 7000 1000 14.8

0.26 200 230 250 7000 1000 15

0.38 200 230 250 7000 1000 15.5

0.50 200 230 250 7000 1000 16

0.65 200 230 250 7000 1000 16.5

0.75 200 230 250 7000 1000 17

0.88 200 230 250 7000 1000 17.5

1.00 200 230 250 6000 850 18

1.25 200 230 250 5000 700 19

1.50 200 230 250 4000 600 20

1.75 180 210 230 4000 600 21

2.00 160 190 210 3000 500 22

101


